« Given below are two statements, i which
labelled as Assertion (A) and ;
Assertion (A) : The

one s
Jand the other g Reason (R):
boiling point of wayier tlecreases
_ as the altitude ncrenses.
Reason (R) : The atmospheric
with altitude, »
Select the correct answer usin
Code - '
«{a) (A) is true but (R) is false.
(B) (A) is false but (R) is true.
{c) Both t‘_:’a_} and (R) are true and (R) is correct
explanation of (A).
(d) Both (A) and (R) are true but (R} is not correct
explanation of (A). ' ' '
2. }‘ﬂ'tich of the following city/cities is/are not situated
in present day Afchanistan?
1. Ghazni 2. Fergana 3. Kandahar 4. Smna];kanﬂ :
Select the correct answer from the code given below:
Code - |

pressure increases

£ the code given below:

(a) 2 and 4 (b) Only 1
(c) 2and 3 Ad) Only 4
- What is the correct chronological order of the Sultans
of Sayyid d}rnast;g , ;
(1) Khizr Khan (2) Muhammad Shah

(3) Mubarak Shah.
Select the correct answer from the code given below:
Code - '
(a) 1,3,4,2
&) 1,3,2,4

(b) 1,4, 2,3
(d) 1,2,3,4

@ A voltage of 15 volt is applied across a colour coded

carbon resistor with first, second and third rings of
brown, green and black colours, What is the current
flowing through the resistor?

(a) 3 ampere (b) 2 ampere

(c) 1 ampere (d) None of the above

5. Consider the following types of erosion and arrange
these in correct sequence in terms of the increasing

order of soil loss from the field due to these types of
erosion - _

I. Gully erosion I1. Splash erosion

1L, Rill erosion IV, Sheet erosion

gelect the correct answer from the code given below-

Code -
@ 1V, L ILTT
{ﬂ:l I[I: II’ I, v

(b) IL, IV, 111, 1
(1L, T, 1V, 1
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Wwe - '

(a) 2 @ilw 4 (b) Faet 1

(c) 28 3 (d) ®as 4

~ Y g9 B Yoarl $1 WS DIATIHA 4T BY
(1) fag @™ '

(3) e Eiiwm

EW ATl ATeTH I8
Ry U HE #1098 SR 6T e
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a) 3 iR (b) 2 urirre
(d) SR % ¥ P
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ae - | _
(a) IV, I, IIL, I1 |

(e) NL L, 1, 1v f::; ﬁ IIE E i

. llowing statements with reference to i P PR =
6. Consider g:ngal of Irijdia-— . _ W TdER Hifsn - ;F-rqﬁ i
" Minister: . the privileges of a Member of 2.9 ¥vE wew @ R &
ot entitled 10 A Ry XS wweR T
Z‘Hﬂlsno A . Wﬁaﬁwmﬂﬁq
parliament ot answer from the code given below: &we — '
the corres” a) el
Select et (b) Only 2 % Y l (b) S o
i ) () =12 1 =7 & =
_d) Both 1 and 2 . R (d) 1 IR 2 Bt
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¢+ The reason for a swimming pool to appear less deep
than the actual depth is -

(a) Reflection
€} Refraction

8. Given below are two stitements, in which one is
labelled as Assertion (A) and the other as Reason (R)-

() Light scattering
(d) None of the above

Assertion (A) : “Five Eyes” is an Intelligence’

Alliance  of 5 countries including U.S.A.,
U.K.. Canada, Australia and New Zealand, —— —
Reason (R) : They share intelligence inputs
regarding threats to their countries’ interests through
a collective secret database called “Stone Ghost”.
Select the correct answer using the code given below-
Code - w
(&) (A)is true but (R) is false.
{b) Both {(A) and (E) are true but (R) is not correct
explanation of (A).
',.(-G} Both (A) and (R) are true and (R) is correct
explanation of (A).
(d) (A)is false but (R) is true.
8. Given below are two statements, in which one is

labelled as Assertion (A) and the other as Reason »

R} —

Assertion (A) : Pulses, when included in
intercropping with cereals, act as
complimentary crops.

Reason (R) : Pulses with tap root system, do not
compete for nutrients and moisture
with cerzals having fibrous root system,

Select the correct answer using the code given below-

Code -

(a) (A) is false but () is true.

(b) Both (A) and (%) are true but (R) is not correct

explanation of (A).

(c) (A) is true but (R) is false.

I_jﬁ‘) Both (A) and (R) are true and (R) is correct
explanation of (A).

10. Consider the following events and arrange them in

carrect chronological order starting Trom the earlicst
lo the Jast activity

(I) Discovery of pi meson

(1) Discovery ol Neutron

(111) Discovery of Blectron

(IV) Discovery of Proton

. Sﬂllccl the correct answer using the code given below:
Code -
(a) I TIT, IV, II (b) 11, 10,1, 1v
—eI 0L, TV, 10, ) 1L 1Y, 1
[C-01] -
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11,

12.

13.

Given below are two statements, in which one is 11, #r3 & @ fa¥ ﬂ"fﬁ g, (R}ﬁfﬁ?%ﬁ
labelled as Assertion (A) and the other as Reason (R): aifirererT (A) 7= {ﬂi 2wl A T o
Asserfion (A) : The struggles in South Africa siftper (A): =R SmRIOT @ T T @
prepared Gandhiji to lead the National Movement.” st ST & g @ ﬁ‘“’? s
Reason (R) : Seeing the mﬂrtanr:.y of Indians in FR (R) : afaro 1T A e.nﬂﬁﬁ i
South Africa, Gandhiji was cunvmr_:f:d that the Indian e T S BT AE @ Ww&' AR ﬂwﬁﬁﬁ
people would be ready for militant struggle and ST foeddt wieg @ forg I
sacrifice for a cause. o , & fare a8 W |
Select the correct answer from the code given below: #re f2v Ty e ¥ wE gax @ =T BITTY:
Code - e —
(a) Both (A) and (R) are correct and (R) is correct (a) (A) T (R) S WE g 3R (R). (M a’ﬁl WE
explanation of (A), T el € |
~AB) (A) is correct but (R) is incorrect. _ (b) (A) WET & fohg (R) 1T gl
() Both (A) and (R) are correct but (R) is not the (€) (A) o (R) <1, wEl € g .(R), (A) FT W
correct explanation of (A). e T8 el 2| .
(d) (A) is incorrect but (R) is correct. (d) (A) TerE € fbd (R) W8 2 |
A sum invested at 7% simple interest per annum  12. ¥ GARIYT 7% Wil @WE B ST W 5 99 |
grows to X 540 in 5 years. The same amount at 9% 540 T BT W B TE gEe 9% W HER
simple interest per annum in 3 years will grow to be- 2o B T W 399 § =7 e —
(a) T 450 () ¥ 520 ' (@) 450 F (b) 520F
(e) T 420 d) T 508 (c) 420F (d) spg ¥
Match List-I with List-Il and select the correct 13. §&i-I &I Yd—1 & Fafera Hfew wer <= ﬁm
answer using the code given below - R T W WE TR @ 99 @iy —
List-I ListIl -1 | I
A. Jaya Varma Sinha . 1. Author of “Tales from A, ST Tt R 1 g Wi Gl
; - _ Banana Republic” \ S A
B. Manoje Nath 2. P.M. of Thailand B. ¥ A 2, omEdks o Hrvw
C. Srettha Thavisin 3, The first woman - TH.
L Chairperson of the C. 2 R E_ 3. %9 91 9 useh AR
Railway Board - HEneT ,
D. Dr. Mohamed Muizzu 4. President of Maldives Pﬁ?’i e HEou] 4. T @ rfy
Code - i :
(a) A-4,B-1,C-2,D-3  (b) A-2,B-1,C-3, D4 E :*’; E‘ivﬂl D3 (b) A2, B-1, 0.3, D-4
(c) A-3,B-1,C-2,D4 (d) A-3,B-2,C-1, D4 _ C2,D4  (d) A3, B-2,C-1,D4
Out of the four given pairs below, how many of the 14 A &g 77 A W H 'ﬁgﬁf' T W g
in irs tly matched? &
following pairs are correctly
(Research Institute) (City) (g ) (=)
(A) Arid Forest Research - Jodhpur (A) I T g ~ S
Institute - i I
. - De un Tqq
Himalayan Forest %ﬂm I
@ Research Institute . REEIE S Ak _
© Rain Forest Research - Jorhat {C?mﬁ 9T ST - =
gtitute .
In il Fur - Jabalpur (D) mﬁ'ﬁ‘ﬁﬁu T 5.
Resﬂﬂf (b) 2 (a) 4 (b)
2
(@ 4 4d) 3 - S @3
(c) 1 Page 4 of 32
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15. :E:E::ll:r the following statements with reference o 15
(1) If the semipermeable - . Y — fera® sty e
between the solvent mc“ﬂ::m“e M e q1f 3 g ey B fSreet
and solution, the solvent & ey g €1 ong d e & &) ¥4
molecules .Wi]l flow through the membrane from % & Frod @R gE [eae W faera of
pure solvent (o the solution, ' efeer & g |
- (2) The process of flow of solvent is called as reverse (2) faemm W yaTe B AE A RN A
0smOsis. p/” HEST & | R -
Select the correct answer using the code given below: ?;%aqﬁi MY HE ?J*TI'_ T Y WEl Tu%
@YBm—th 1 and 2. (b) Only 1 @1 2@t ) B 1
Gt lped ., ~ A0Sy (o) 1A E 2 (d) Baet 2
16. Consider the following statements with reference to 16, T5¥ We¥ ¥UT, 2023-24 @ ed ¥, Fpeaferaas
Uttar Pradesh Budget, 2023-24 - o T e #ifg —
1. The size of the Bud;;e.t is ¥ T,ﬁﬂ;ﬂﬂﬂ crore. X 1, gore @1 AFR 7,60,000 w3
_,';/rhe Fiscal Deficit is estimated to be at ¥ 84,883.16 ZW;W HIT 84,883, 16- € T 3E BT AT
T : o ' ﬁﬁqw@'ﬁmaﬂmﬂWﬁTW'
Select the correct answer using the code given bglnw: ¥ : e
Code - .
(a) Both 1 and 2 B Only 2 {:]_1 afie 2 o1 (b) el 2
(€) Neither 1 nor 2 «dj Only 1  @FdT e (d) Fae 1
17. Cnnsiﬁcr the following events and arrange them in 17. ffariae el g faEw @iy I
chronological order - g FTETFATIEIN Safer Wi —
I. C.R.Rao, the eminent Statistician, passed away L W wifterdifas, Wram @ a1 feF
I Ustad Ali Zaki Haider, the Rudra Veena exponent, I v 4o agd, Swis el T dew e
passed away ' i = . [ wree & W e & S, fagway
[IL. Bindeshwar Pathak, father of public toilets in arEs B B i
India, passed away - ; [V, e &) SR Hify @ W, TATH. T
IV. M.S. Swaminathan, father of India’s Gre.enl e T
olution, passed away 5
Seieite:h; l:clnrrecls answer using the code given h_ﬂlﬂw' ;ﬂ: _ﬁﬁ T ue g qﬁ’rq
g}md& LIV (b) IV, 1L, TIL I = ::: ﬁ i ]Ilf. $ . E:} ;J, I, Im I
(c) IV, L IL IIT o I T 1L IV, "4 T (WILILLIV,
Consider the following events of seed multiplication 18- et 1O =T B Frtefia ‘qﬁ—-ﬁe,ﬁ w R o
stages and arrange these In correct chronological it 9= URfys wwr 9 Ifod T 96 Wl
order from earliest Stagc to last - ?Flﬁﬁfﬁﬁ'ﬂf Y # wrgfterd Ty — ¥
1. Breeder seed . Foundation seed L yoEd 9 0 IL e dnd
III, Certified seed IV. Nucleus seed 1. sreifre o IV, =@ 4 .
Select the correct answer from the code given below— #4 fag o E & e 9T Bl WW _
Code - I T — ;
ey TV, 1, 10, [T (b) I, I, L IV~ (a) IV, L, I, I (b) IL, TII, I, IV
(¢) OL L, IV, II (d) I, IV, TIL 1 (¢) IIL I, IV, 11 (d) I, IV, L I
[C-0 e - Page50f32 '
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18. Given below are two statements, in which one is
labelled as Assertion (A) and the other as Reason
(R)—

Assertion (A) : India is the largest producer of Jute
in the world. '
~ Reason (R) : India’s Jute production increased due
to Yellow Revolution.
Select the correct answer using the code given below-
Code -
(a) Both (A) and (R) are true but (R) is not correct
explanation of (A).
{A)is troe but (R) is false.
(e) (A) is false but (R) is true. :
(d) Both (A) and (R) are true and (R) is the correct
~ explanation of (A). ;
20. Given below are two statements, in which one is

labelled as Assertion (A) and the other as Reason (R)-

Assertion (A) : Roscomos’s Luna-25 mission to
moon was aimed at ensuring
MMS to moon.

Reason (R) : Russia and China together are leading

International Lunar Research Station

(ILRS) against U.S. led Artemis
Accord. s
Select the correct answer from the code given below-

Code -
A8) (A) is true but (R) is false.

(b) Both (A) and (R) are true but (R) is not correct-

explanation of (A).

(e) Both (A) and (R} are true and (R) is correct
explanation of (A). ;

(d) (A) is false but (R) is true.

20.

E@;sﬁv ® @ e & g ), (A) # w
=T TRl |

(b) (A) T & farg (R) 379 gl

(c) H}W%W(R}'ﬂﬂ?l '
(d) EA}aﬂ? ®) T ey & SN (R), (A) BT W
o B |

S @ wed Ry oMy § OB W @ W
AffeRer (A) 3T ] FRYT (R) HET T4 & —
sifi@er (A) : T T N 25 R
. T OE TEAT U9 YgH Bl TR

’ : gifEaa wyEr anl
HRYT (R) : ©4 A7 7 Frees smRar 3 49w
i o o s
T AT (ILRS)

T g FY I8 € |

2 Ry 7 T ¥ T R goT —

ﬂiﬁ—

(a) (A) W= € g (R) 39eg &

(b) (A) 3R (R) a1 wex € fg (R), (A) & w8
AT e TN E |

(€) (A) SIX (R) ST w9 ¥ @R (R), (A) BT ¥
T YT |

(d) (A) a9 & foeg (R) e &

21. x% of y is equal to y% of ........... : 21, y &1 x% 595 y% & Ty 27
daTx (b) 100x (@ x @ (b) 100x &
(c) 1% (d) None of the above 2 :}%r 1_% & 5 (d) TRT # § @
22. Given below are two statements, in which one is . FUT T E, T v @) arftrer (A
Jabelled as Assertion (A) and the other as Reason (R): 3 ¥ B SR (R) ey wrayy & - i
Assertion (A) : During the winter season, most part e B) 9 & e H, IR 1
of India is dry. | R _gﬂ_wﬂﬁﬁﬁmh
Reason (R) : Most parts of the country are under PRI (R) : 3T g & Sy 2y o affeyeptar
influence of the northeast trade winds gTﬁf— ARG garaif 35 woqr o &0
during the winter season. . :
Gelect the correctanswer using the code given below: A ﬁﬁ ™ T Td"'-Ffm B WE TR w1 99
Code - d (R) true and fR} is the correct {EE;{ A A
Both (A) a0 i ' _ al (A) 3R (R) gi
—/m explanttio” OEFE?}I true but (R) is not tt ct (b) ﬂwél ™ % IR ®), (&) H
‘I'-",L E].ﬂd are L= b1 15 not the corme (A} {R} EIF:"T -~ '
(A) T qﬁgﬁ?;ﬁ%mwﬁﬁ
71 00 ST & B Y
: 7
(d) (A) g & %
Page 6 of 32 ﬁﬁ ) o E

T



23. Match List-I with List—I] and select the correct
answer using the code given below:

List-1 List-IT
(Dance) (State)
A. Bharatnatyam - 1. Tamil Nadu

B. Kuchipudi- 3 2. Uttar Pradesh

C. Sattriya -~y 3. Andhra Pradesh
D. Kathak .2 4. Assam
Code -

(b) A-3, B4, C-1,D-2_ '
(d) A:1,B-2,C4, D3

a) A-1,B-3,C-4, D-2
{c}:'i:-lf B_d': C_3| Ez

24. Consider the following statements with reference o~ 24.

Charkula dance of Uttar Pradesh —

1. It is a dance performed in the Awadh region of
Uttar Pradesh. '

2. In this dance, veiled women balancing large multi-
tiered circular wooden pyramids on their heads
dance to songs about Krishna.

Select the correct answer from the code given below:

Code -

_{a¥Neither 1 nor 2

{c) Only 1

(b) Both 1 and 2
(d) Dnlj.r 2

25. If the 25" of October in a year is Thursday, the 25.

number of Monda}fs in that month is -

(a) 3 20~ (b)4
e 5 ‘*'..li%;.._f (d) None of the above

Ty

26. Given below are two statements, in which one is  26.

labelled as Assertion (A) and the other as Reason (R)-
Assertion (A) : The northern slopes of the Himalayas
have ‘a thicker -vegetation cover

compared to the southern slopes”™
Reason (R) : Southern slopes of Himalayas receive
more rainfall than the northern slopes.
Select the correct answer using the code given below:
Code - '
() Both (A) and (R) are true and (R) is the correct
ﬁxplanaﬁon of (A).
_AB¥TA) is false but (R) is true..
(€) (&) is true but (R} is false.
(d) Both (A) and (R) are true but (R) is not the correct
explanation of (A). ' '
[Con—

Page 7 of 32

" {a) A-1,B-3,C4,D-2

23. i1 P A1 & AR S TE A &

e B 9O HY wE IR AT

- i
() (Rr)
A. WREETEAH 1. AfferTg
B. | 2. 9TX WY
C. | 3. 3y e
- D, 7UF 4. 394
%5 - :

(b) A-3, B-4, C-1,D-2

(c) A-1, B-4,C-3,D-2 (d) A-1,B-2, C-4, D-3

TR WRY B ANl Jou B W A e

worl T faar #ifog —

1. 9E 9% Wow ® a9 &= % A W arer T
gl

2. 8% Jeu ¥, vef =@ e A RK 0 98
TR AR Al @ ARfel B gl
BT € S gy @ Al U I FRI el

#ﬁﬁqwa@g%ﬂﬁaﬁ?ﬁrmﬂﬁm—

ﬁ_

GV T i ) (b) 1 79 2 ST
(c) e 1 (d) Her 2 :
afe e ad 4 25 sreeR B TeUR B, O vw T8N
H HHaRt B gEu fhash 2rfe
(a3 ' (b) 4
(e) 5 (d) SR § 3 w1

TR T wer T, R w51 e (a)
Y TR BT BT (R) 7 2T B -
WD (A) : BT & Sl ger! W el

W(R) ﬁ%matra%?f@mﬁaaﬁﬁﬁeﬂfrm

o P Ge N F arfire aut 2y 2 _
.%QWWHWWE?@WETW

ﬁ_

@ (A) sl ®) 2 Wy ¥ ai (R), (A) T ﬂ'&"r
AT Fer |

{h}(ﬁ]ﬂﬁ?ﬂgﬁrﬁjﬁ}mﬁl

(e) ( (AW & g (R) eramy 3

(d) (A) afe (R) M1 weg & g
(R), (A) =7 W&
T HE ey &

LT




27. Given below are two statements, in which one is 27. S =l v 2.
i b & = R} el AT .
labelled as Assertion (A) and the other as Reason (R): AR (A) st Q\Tﬁ P BT (

- Assertion (A) : Raja Ram Mohan Roy was the Editor fmeT (A): : HEd 4 o)
of “Sambad Kaumudi”, a Bengali weekly. ?ﬁmﬂmmz;fﬂ Eﬁ?ﬂ P B
Reason (R) : His articles condemning the custom of RO (R) : Faerdr e EE
widow burning were published in i T T -
_ pu in it. & wd e B T I
Select the correct answer using the code given below: _%j Ry ¢ TE kil :
Code - - =
. (@) Both (A} and (R) are true and (R) is correct (a) (A) ﬁar,'{;:l;'){?ﬁi we § R R). (A) o
explanation of (A). ; Al .
*_Ab) Both (A) and (R) are true but (R) is not correct (b) (A) 3R (R) BT el g g R). (A) @ W&
~ explanation of (A). = S BT 2
(€) (A) is true but (R) is false, : o (© ()W B g R) I Bl
2d) (A) is false but (R) is true. _ 07 (d) (A) orvea § g (R) T B
28. Match List-I with List-Il and select the correct ~i28. geff-I ﬁumﬁ fera g @ A &y
answer using the code given below : '3'3 e Dl & Hel It ?ﬁq :
List-I List-11 — - wEil-11
(A) Futuh-us-Salatin (1) Firoz Shah Tughlag = (A) Gqp—su—wanas (1) {51 w8 gres
(B) Futuhat-i-Firoz Shahi (2) Abdul Malik Isami (B) Baem—g—Theraiael  (2)° #fe gam!
(C) Tarikh-i-Firoz Shahi  (3) Amir Khusrau (C). o—faTemEl  (3)
~ (D) Khazain-ul-Futuh >_ (4) Ziauddin Barani (D) FuT—Se—E1E (4) TS
Code - P o - : : :

(8) A3,B-2,C-1,D4  (b) A-1,B-3,C4,D2 . (a) A-3,B-2,C-1,D4 (b) A-1,B-3,C4,D2
A€) A-2,B-1,C4,D3  (d) A-2, B4,C3,D-1 < (c) A-2,B-1,C4,D-3 - (d) A-2, B4, C-3,D-1
29. Given below are two statements, in which one is ;‘g.?g- a9 5 i‘ﬁﬂﬁqﬁ%ﬂ% g fowd % W_gaﬁ
labelled as Assertion (A) and the other as Reason (R): <  SIA@F (A) FROT (R) HET TATE
Assertion (A) : A person travelling in a car with & AMFET (A): = WY w fEefFEdl oF -

[C-01]

| . ; . qel R W AT HYe §HG Al
closed glass windows and doors is _
safe from the lightening strike. ~~ m faoTelt & amema | g
Reason (R) : Actually a closed car behaves like a FRY (R): UF T X A & <
hollow conductor, so charges cannot e e TEER ?ﬂfﬂ[ & \,ﬂé:'fi' ; "Ewl 3 3
enter inside the car. .~ | P 3R e T B g ¥ |
Select the correct answer using the code given below: Ejl: = AU T HE B AN e w9l gew o7 g
Cﬂde = - i 1:3—_3 e 5
(a) (A) is false but (R) is true. = o = ;
(b) Both (A) and (R) are true but (R) is not correct L2 {:] (i} aﬁ'\rm & ‘%ﬂ '[R)_‘FIE 2l
" explanation of (A). | gl i ﬁg}ﬂ%ﬁg e 5 (R), (A) & W@
Both (A) and (R) are true and (R) is correct © (A ) 3R (R 5 )
explanation of (A) B 3T W § ik ®), (4) WA
(4] G isiapRELS, 8 e 1 () () W & R () o 2
30. With reference 10 the ‘Rhine River in Europe’, which {'i“aﬂ?[\ﬁfl H e O B wew ¥ Freifaie 3 § o
f the following statement/s is fare correct? gj |/ B Wl & Vs o, :
T Rhine river is an important pathway for industrial —. 1. ﬁ BEURES Hle denfirs TRfRE @
M Germany, 50 e ARSI S .
tivity in northern - -2, T BT
2 ;(;;t malr Rotterdam 15 Jocated at the mouth of the :ﬂ%{%{%q TI_E[ ISTME M 78 T T ferd |
Rhine river. ine the code given below: 9 G @1 uhny Y
Select the correct answer Using git i&j WE SR w1 99
Code - ) Only 2 @Td 1@ 2 ey
(a) Nﬁimerlt;mgrﬂ 'K‘E:}Drll}'l (c) 130 2 TrF :Eiﬁ'ﬂ'ﬁ% |
] an Page 8 of 32 Tome e R I 1
(c) Both ; o
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31. Consider the fﬂﬂl‘.}Wing statements with reference to 1. HEH] va} T'H_Q"ﬁ- ﬁ' ﬁ'ﬁl‘f%ﬁ@ﬁ 'ﬂiﬂ?ﬁ Ik ﬁ'ﬂﬂ H‘ﬁ-ﬁ{q
Rud:ama_ and choose the correct statements about ve SE@ an A wel P g — S
neg - (1) 5T are B Sidg dw @ Al whA
(1) Rudrama was fourth independent ruler of s off |
Kakatiya dynasty of Warangal, - 2) ST TRNT AfverTs @ qrues, gerar ® gl
(2) She defeated Pandyas of South Tamil Nady, = e = & VT ATED] BT A
Eastern Ganga rulers of Orissa and Seuna rulers.> /
of Devgiri.yo _ o fdar | el gl 2
A8) Only 1 () Neither 1nor2 2 ~ @3Fa@1 ()
(c) Both 1 and 2 (d) Only2 i (@ 138iR2gE () 2 -
32. Which of the following statement/s is /are correct? 32. Rt o /el § § BR-WT/W
L First Agricultural University was established at 74 : : §
Pantnagar, Uttarakhand (erstwhile part of Uttar L Ugdr PiY-fzgidere, (TR, STRES (e
: weeT o7 ) ¥, 1960 %, wenfia fhar T
Pradesh) in 1960. — T:h‘-lch' A : .
L Dunn{g 19[]1?-19[}5, six agricultural colleges were - R R o, W, AT,
established at Kanpur, Pune, Sabour, Nagpur, <O . 3R PriE ﬁgﬁ @‘ﬁ
Lyallpur and Coimbatore - "Ei - ”ﬁﬁg fye ey _
Code - ' of
(a) Neither I nor IT (b) Only I Y @ e@iTdn e
(c) Only I : _Ad) Both Iand 11 : ©FTIFI - (d) 1% 1 ==
33. The 6" Schedule of the Indian Constitution is related  33. wrdry wferT &5 o SEE fF el &
to the administration of Tribal areas of - WA SF @ g e 87
(8) Assam, Arunachal Pradesh, Tripura & Mizoram-* (2) srer, erevmEe g, By a e
(b) Assam, Tripura, Nagaland & Mizoram t.'ZH) (b) 3w, HgRr, AR T ey

(c) Assam, Nagaland, Meghalaya & Mizoram b (c) sreH, AMTeive, Halery 9 farem
e} Assam, Meghalaya, Tripura & Mizoram Lq_'j (d) a9, Here, ﬁ_’ﬂﬁ ERGTIE:!

34. Match List-I and List-IT and select the correct answérs1 34, ST 9T -1 sy w@en e Ry e T B
using the code given below — ST TR §U WE SR BT g Wty —

List-I - List-II TH-1 -1
otal Medals won : .
(Country) . Hangzhou, Asian __ (&) (€Ter ofr @er-2023
Games-2023) R W GEST ) ween)
A. China ~2, 1.190 W A HT 1. 190
B. Japan 2.107 oy B. ST 2.107
C. Republic of Korea 3. 383 ,:"! C. 1T TuRpey 3.383
D.India — 4. 188 ] D. ARG - 4.188
Code - . e —
(@) A-3,B-2,C4,D-1  (b) A-2, B-1,C-3, D4 (8) A3,B-2,C4,D-1  (b) A2, B-1,C3 Dy
3 (¢) A-1,B-2,C4,D-3 (d) A-3,B4,C-1,D-2 © A-1,B2,C4,D3  (d) A3 B4 C1 D-2
5. Match List-] with List-Il and choose the comect 35, L A s
answer using the code given below : g G 11 m;'[ff 31']?1@3 o ﬂ'ﬁQ" I EL e i g iA
List-I List-II ; -1 ;
(A) Vitamin-C - (1) Night blindness - | Y-
(B) Folic Acid - (2) Beni-Beri ® qﬁﬁﬁﬁi =C ' (l]?ﬁﬁﬁ‘
(©) Viamin-a | (3) Anemia -8B T BERE T
(D) Vitamin-B1 - =2 (4) Scurvy (©) Rerfir-o (3) eI
Code . - B (D) frefim—py (4) 5T
(@) A-1,B-2,C-4,D-3 _{b} A4, B-3,C-1,D-2. e -
(¢) A4, B-3,C2,D-1 (d) A2, B-3,C-1, D4 (@) A-1, B2, C4.D3  (b) A4,B3,C-1, D2
[C-01] Page 9 of 32 (©) A4.B3,c2,p.g (d) A2, B3, C-1, D4
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36. . T ;
6. What is correct in the following statement/s with

reference to Uttar Pradesh?

(A) Age has been determined in Pre-primary
education as 3 o 5 years. X-

(B) Age has been determined in Primary education as
6toll years. | ~

Select the correct answer from the following code :

Code - !

_AayOnly B . (B) Only A
(e} Neither A nor B (d) Both A and B

37. Consider the important events of coal mining i India

38. Given below are (wo shatements,

3

and arrange these in correct chronelogical order

starting from the earliest 1o the Tast activity -

L First production of coal in Raniganj

II, Establishment of Coal Tndia Ltd, (CHLy

NI Mationalisation of coal mines

1V, Establishment of Natienal Coal Development
Corporation (NCDCH

Seledt ihe correct answerusing the code given below

Code -

(@) 1L, 1, 11 IV,

Jj.c] LGy

(b) LN TV
{d) T.IW. 1L 1

inowhich one s
Tabelled as Assertion (A and the other as Roawen
(R) -
Assertion (A) 1 The eguanorial forest bome is the
bionie with the densest and uphest I~i¢:}u;m.
Reason (R) : There is high rintall and high
femperature throughout the yeur m the
equatonial forest region.
Seleet the correct answer using the code given below:
Code - '
(a) (A) is false but (R) is true.
oth (A) and (R) are true apd (R is cormect
.gxpl:matinn of (A
(e) (A)1s e but (R) is false. ‘
(d) Both (A) and (R) are true but (R} 15 not comedt
explanation of (A).

ssider the following statements with reference 10
. 011>

Bankim Chandra Chattopadhyay:
.H qgs the first graduate of Calcutta University.
1. He was -

43 his last Novel.

» ~Qjtaram’ W ; :
o rSitarn psing the code given below:

A -
lect the correct ANSWE

r
e

(b) Neither 1 nor 2

36.

37,

g, 5

ok uow & g ¥ Frflas s/ U A
a7 Hel & /87 |
[-%]ﬁﬁﬁﬁﬁﬁTﬁH@Hﬁﬁﬁﬁﬁfﬁﬂﬁl
(B) T R @ amg 6 11T PriRa 2
9 fe Y oE § 99 SR AR

ﬁ-.“E_._
(a) dime B (b) Fad A
() FaATTER (d) AN B =

Wi § AT @S W aseyy HeAil o BEIE
Fafsmw mp o= =8 FEEes 0 e Iy,
was TR 9 2T wiigd i e -

I 162 M - 7 T ] R L . et 53

1, w9 s BfEEs (CIL) #1 i

= ot i L S TR AET Eak )

IV smETE s s I NCDO) Y SR
S N R

fos Ehoe =srs gor mr —pRepivpe ETST

e [N CFEE T TR fr B TN

il
(o) THL, L I0, 1N
(e) 1.1 1ML

(b)Y I 11, 11, 1%
(dy Liv. L n

WP Rl (A

LT T T

RS St ) O M o R TR 1

e AR N i
SR (A TN AT G g gl
Tt TN

e smaw g%
WL, i_alwe {1

[ e +Ep
AT I

@l (R DT e 0 8 ) o e g o

] UTHIE AT
At Ry we B wRURRR w9 TR @ g
Er Pl
a -
(a) (A 3 2 ﬁ:-r__; iRy 570 21
(b) (A) BT (R) 2T W £ @ (R), (A) #T TE

SO ST 2]
(c) (A) ¥=g & &= (R) arvem & |

(d) (A) 71 (R) =1 ¥ 2 fag (R), (A) &1 w8
=TET TRl S B

39. 5iF9 O IO B wed ¥ Srefatay sy
ox fqaN D -

1. 98 Dol [MIEged © TE HEE o

2. HANE ST SR ST o

= RY T GE O IR TS oy w57 799
P

EE‘.E_
A1 &% 2 5T
(c) Faa 1

1
(d) F=e1 2

Page 10 of 32
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40. Consider the following events
chronological order with the
below:

1. First phase of Bank Nationalisation "f’lﬁ

II. Second phase of Bank Nationalisation

III. Establishment of Regional Rural Ea?md'::ﬂ.l n;?lﬂﬂ
IV. Establishment of NABARD

and arrange them in
help of code given

Code - ; o ptie
(a) IV, IL, I1I, I (b) IIL, I, 1, IV
) L IL, IT, IV {d}lnwm

41. PIN in banking transaction i 1s known as -
{B] Postal hdex Number' (b) Permanent

: Identification Number

Personal (d) None of the above

- Identification Number

42. Which one of the following organisation declared
Varanasi its first Tuunsm and Cultural Capital in

20237

~ (a). Shanghai Co- (b) G-20

operation 7
_ Organisation (SCO)
(c) ASEAN (d) UNESCO

43. Given below are two statements, in which one- is
labelled as Assertion (A) and the other as Reason (R):

Asserﬁﬂn (A) : Saline soils in India are not
appropriate for cultivation of cmps

Saline soils have high pmpﬂrhcn of
salt, largely because of dry climate

and poor dramage
Select the correct answer using the code given below:

‘Code -
(a) Both (A) and (R) are true but {R} is not correct

explanation of (A).
(b) (A) is false but (R) is true.
(€) (A) is true but (R) is false.
/[.ﬂ) Both (A) and (R) are true and (R) is the correct
~ explanation of (A).
44. With reference to the Burhan- -ul-Mulk Saadat I{han
which of the following statement/s is/are correct?
()8aadat Khan was the founder of Independent state

of Awadh. : .
(2) He took part in the conspiracy against the Sayyid

Reason (R) :

40.

41.

ﬁmﬁrﬁaﬁaﬁmﬁwwmwaﬁaﬁ%

fie — : i

(a) IV, ILI!II (b) 1, 10, I, IV

[c:lLlI[lII‘u’ (d) L, IL, IV, IIT

¥o @ S 3 O (PIN) T AW § -
. {a}u’fﬁﬁsﬁﬁmw (b) T

il

'{cjmam&ﬁmﬂmmﬁﬁﬁs‘aﬁf
-ﬁmﬁ%ﬁﬁﬁﬁmw%aﬁzﬂzsﬁ TR

ﬂﬁﬂﬁﬂ%ﬁﬁﬁﬂqaﬁ?mwﬁﬂ’ﬁﬁ

b

(a) ¥Emg wEUMT e (b) Si—20
(gRr.iran) :

(¢} iR {d] qﬁﬁﬂ

44,

»-ﬁﬂmﬂﬁ??ﬁﬁ

il @ TP TﬁT

e (A) SR GER B FRT (R) HET T4 8

st (A) AT § eavig. ) muel @ wd
% for Sugad & 81

.W[R} aavﬂaﬁ@ﬁwaﬁwaﬁﬁmﬁ

2, ﬁﬂmﬂmwgﬁﬁmaﬂ?
 EE o e 2
ﬁﬁﬁﬁnwmﬂmﬁrwwwaﬁﬁm

I_'a] (A)aﬁ? (R}aﬁ‘r "9 & fg (R, (A) #1 |E
SR el Bl & |

(b) (A) sraed & fFeg (R) 9 B

(c) (A) &ed & fohg (R) siew B -

(d) (A) R (R) EFT W9 & 3R (R), {A)aﬁ:ﬂﬁf
e Bl B |

REF-Se-Yob HART &H B "\trrafr 3

?Tﬂgn%lﬁ T /T OH Y BT /Y Ri
ff R

(l)mzﬁﬁﬁamﬁwwm

{E}Gﬂ#ﬁmﬁaﬁ%ﬁﬁrw#ﬂmm
AqT|

Sel::::;::im:’;n?wggmn.g the code given below: RlE ﬁR’ G &E =T ﬂ‘ﬂ‘l‘T G H‘Eﬁ ST B "9qq
Code - _ . He —
(@) Only 2 (®) Both 1 and 2 (@) dam 2 (b) 1 o
_AeyOnly 1 (d) Neither I mor 2 (c) @aer 1 (d) =1 @ 19 &1 2
1§01 e Page 11 of 32
. i1 AR A
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45. Given below are two statements, in which one is
labelled as Assertion (A) and the other as Reason (R
Assertion (A) JRabi crops in India are

predominantly cultivated in north-

western states like Punjab and Haryana.
Reason (R) : The success of Rabi crops in these

states depends on the rain due to

estern tropical cyclones during winters,

Select the correct answer usin g the code given below:
Code -

(a) Both (A) and (R) are true but (R) is not the correct
explanation of (A),
(b) (A) is false but (R) is true.
A€} (A) is true but (R) is false.

(d) Both (A) and (R) are true and (R) is the correct
explanation of (A). ' '

6.) With reference to “Kuzbass region in Russia”, which

45.

T Bl
T E
o

- 'I ﬂ-
9 @ wom Ry w8 R
aﬁmm(h}ﬁﬁ@ﬁmfm?’%
o (A) 1 T 3 ¥ el 1
¥ voma &fik gRamm S
: w-nﬁaﬁsm;fﬁraﬁﬁ%l _

: P ¥ ) WAl B Aol 9
PROT ERT AT aTRe o} iR el B |

M Ry U FE W W8 OO w1 =AU B

- EE - ' '

£y

(@) (A) &R (R) Tl o & g (R), (A) 1 T
=T TR BT B |

(b) (A) orered B frg (R)wed B

(c) (A) weg @ Tbeg (R) areey B

(d) (A) &R (R) 29T weg & &l (R), (A)

T HE B |

& wE

6. 5w § guEaw 47 F Wl ﬁ,'ﬁlﬁﬁlﬁaﬁ_ qg
of the following statement/s is/are correct? Bl ﬂ;,; | Wﬁgﬁ? L 8 :
- This region is rich in coal and iron ore. L !J‘gf ; F'. 2 P ; o : ' ﬁ:ﬂ’f Eaﬁa’fﬁ]‘cﬁ' '
2. Novosibirsk is an important industrial centre of 2. §i-,. A LERUR ._ . i
this region. - : A - R g @ g wY W SR B
Select the correct answer using the code given below: - e - _ 3
Code- - - e, N g TE— .
- £a) Both 1 and 2 (b) Only 2 (a) 1 &k 2 2 (b) et 2
(c) Only 1 (d) Neither 1 nor 2 | (e} wad 1 (CHSEGIR S -
47. Two statements are given below, one is labelled as 47. gﬁi%mm ﬁ:l";' T E, Wg_h‘“f I (A) R
Assertion (A) and the other as Reason (R) : PR (R)TEITE
Assertion (A) : In October 1940, Gandhiji'gave call e (A) : ey 1940 #, TN 3 o o
for a limited Satyagraha by a few gY I BN Ui wemmsE @
selected individuals. - T |
Reason (R) : The Satyagraha was kept limited so as P (R): TE FeIe SR e war ar aifs
to embrace Britain’s war efforts, /5 1 R e & g et oy 3 9T |
Select the correct answer using the code given below: T HE BT SHAMT B WE I T T
Code - S EE — . i1 . :
(a) Both (A) and (R) are true and (R) is correct : {;} A) AR (R) S "1 _
~ explanation of (A). ' e ey 3 # Sl ), (a) @
A RN b ® isnotcomeet (A & Ry Ry e 2
() Both (A) and (R) __ : (©) (A) 3R (R) S ey & R (R), (A) 2 W&
ﬂxplaﬂaﬂﬂn of {ﬁi} . BE ;ﬁ:ﬁ- WHT _%_ | .I
(d) (A) is false but (R) is true. N o Ad) (A) e @ 5 (R) e 3 |
98. Wiich ‘statement is triue regurding Bipin Chandes 8. R Wy wrer 3 et s T B W &2
9 R . :
.f?li-l'ﬂ was a Brahmo Samaj Leader and Social 1.98 il T TS B EIRGH :1}”.
Reformer. & . Eﬂgﬁmmfﬁmﬁmqﬁ;ﬁmml
7. A weekly magazine named New India was BRI TORT e W8 e
" published. X - ME i ¥ g —
selgﬂlﬂlﬂ c_u_rr_e_g_f_ answer using the code given below: He — : 1 _
Cops ither 1 nor 2 (b) Both 1 and?2 @7 W@ 17 & o B 1ax23ms
. gml ) (d) Only 1 o (FTm2 (0) By 1 :
e Page 12 of 32 WWWWW
[C-01] :



49. Match List-
ch List-I' with List-Il and select the correct 49 -1 ®T FE—1 ¥ gaferd © i i Ay 7

answer using the code given below

List-1 List-1
(Oil Refineries) (States)
A. Barauni—1- 1. Assam-
B. Bongaigaon—\ 2. Bihar
C. Bina 3. Gujarat
D. Koyali - 4. Madhya Pradesh
Code - '

() A-2,B4,C-3,D-1 (b) A-3,B-1,C4, D2
(¢) A-1,B-2,C-3,D-4" (d)A-2,B-1,C4,D-3

Trqaze#ﬂﬂﬂﬁ?‘ﬂ'ﬁ?—

W'_I Al ?i;rﬂ-—ﬂ
GERICEEIED) (Rr)
A, T L,
B, g 2. faEr
C. €T 3, T
D. FrFell 4. T TG
- |

(b) A-3, B-1,C4, D-2

(a) A-2, B4,C-3,D-1
(d) A2, B-1, C—4 D-3

(¢) A-1, B-2,C-3, 1:::4

[C-01)
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50.1f 2+5=1Tand 2 47=1, then S+ will be _ 80, AR EFE=1 MR 7 242i=18 Ag Byl
equal to - ' - - Esm.r & -
(@) 0 —b) 1 _ (a) 0 [b} g .
() E (d) None of the above (c) b (d) s 0 H fﬁﬁ el
y
51. Consider the following statements with reference to 51+ "Rl PP iy Fon & g ﬁ Frreferrea
~ “Nandini Krishak Samriddhi Yojana” — ot T famm @Y -
(1) This scheme includes ‘milch cow breeds of ’ (1) 39 e # ael ﬁ%ﬁ'ﬂlﬁ‘f i gEURESs 94
Sahiwal, Gir, Tharparkar and Gangatiri only. HEILIAY et ‘qﬁ gHre i &) ftaferT g
(’2} Beneficiary must hﬁvc at least one year of cattle : Bl
' : : A ¥ .{z)mﬂaﬁﬁwnﬂaﬂzﬁrwﬁwwa&m
rearing experience. - e g AR
Select thé correct answer. from the code gm:n T:-elnw— o o % W T T 9 -
Code- e e -
A2} Neither 1 nor 2 (b) Only 2 (@) a‘n:nﬁlz (b) Saet 2
B (c) Only 1 (d) Both 1 :}nd_ﬁ () @ael 1 (d) 2T 18R 2
52. 15 bulbs each of 200 watt capacity in a Silkyara' 52 s Rewmama GO # 200 dic &1 ® 15 99
tunnel are illuminated continuously for 24 hours. The IR 24 HO O@ e fhd S | faerEl &
consumption of electricity Will be - ' @y fan e ;
(@) 71 units’ Priz units (a) 71 gfe (b) 72 gfe |
{::j 73 units (d) None of the above (©) 73 Tfe (@) Sda & 'w.‘;ﬁflﬁ i
53. Consider the fn]l::rwmg Mughal ‘Emperors and 53. frmifarftrg e e oY fEr g SEISRED]
arrange them in chronological order :  ICEPATER s e iy "
() Furrukhsiyar (1) Jahandar Shah () weEay () WeEr 9E
(IIT) Bahadur Shah (V) Muhammad Shah (II) 9ETg¥ I8 (V) e
Select the correct answer using the code given below: AR Ry T 9T W wE 9w gy
Code - . ' e - )
AL 1LY, T ()1, 1V, IL I (@) I, I, L, IV (b) I, IV, TL, TII
~ {e)Iv, 1, 1, I (d) 1, IIL, IV, 1T (©) IV, IL 1, I
R S v (d) I, O, IV, 1T

T
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54 Match List-I with List-Tl and choose the correct
answer using the code given below —

List-I List-11
- Current Assets
(A) Merchandise (1) Current Liabilities
Turnover -~

2) Liquid Assets
Current Liabilities

(B) Current RHP;‘D
(3) NetProfit before Interest & Tax

(C) Acid Test

Rati &t Total Assets
abo
Cost of Goods sold
(D) Gross Capital (4) e o
“Employed
Code -

_,EH}AJr:Bl:CED-S (b) A2, B-1,C-3, D-4.
(¢) A-3,B-2,C-1,D4 {d}A—4B3g__lD2
55. Which among Ihe following is the correct order

mentioned in Preamble of the Indian Cﬂnstltutmn?

(@) Socialist, Secular, Smerejgn, Democratic

,,ibi’Suverelgn, Socialist, Secular, Demoeratic’

(e) Secular, Socialist, Sovereign, Democratic

(d) Sovereign, Secular, Socialist, Democratic

36. Which statement is correct about Panchayati Raj?

(8) The Panchayat Samiti and Zila Parishad are
_constituted with directly elected members, -~

(b) Minimum age is 18 years to contest the election
at the Panchayat level.

(c) Election of the Panchayati Raj Institutions is
conducted under the supervision of the State
Election Commission, .~ ;

{d) None of the above

57. With reference to “AGMARK",

which of the
fﬂ]luwmg statement/s is/ite correct?

4. i1 ST & e AR e A R

@ﬁﬁﬁmgﬁv— s ﬁiﬁll
- .
wqﬁ's
(A) TFAT 3T D) 5=
-Tm'ﬂmﬁ
(B) wITe], ST (€ ey
v ww A A
(C) art TG auE (3}% :
ﬁ-@rﬂiﬂiﬁﬁﬁ“m
(D). wrer fafERm o @ — o

wE— .
(a) A4,B-1,C-2,D-3
(c) A-3, B-2, C-1, D-4.

(b) A-2, B-1,C-3, D-4
(d) A-4, B-3,C-1,D-2

55. TR RN @) S 3 SfeereT WE

T B?
(a) AT, qﬂ—ﬁ?ﬁﬁ w{ﬂ’r e TR,
EIELEIRiC]

(b) : e, EAToaTdY, e Re,
(€) ST, FaTGTaTal, HHEET Wed ¥,
(d) o T, 2 ;

ﬁ‘ﬁﬁaag'r?nfﬁ

56. ﬁmﬁﬁma%mﬁaﬁﬁmaﬁmﬁ%?

(a) TamE WY @iv foen ofve woe feiRe

caEet W e B E) -
(b];ﬁaﬁmwa@#ﬁaﬁmmmﬂé
| G *
(c) WAl ¥ Wl H1 g v g e
& EaET # g & : ' :
(d) oiRiea # & wE 8

*S7. mErH %ﬂwﬁﬁmﬁaﬁgﬁmﬁﬁ

1. “AGMARK” is the sign of quality of 'agmultuml iy

products.

2. Certificate of “AGMARK" is issued by Food
Corporation of India.

Select the comrect answer using the code given

below—

Code -

(a) Both 1 and 2 4B) Only 1

- (c) Only 2 (d) Meither 1 nor 2

58. With reference to Uttar Pradesh, which of the

following smtem-:nﬂs lsfare correct?

58. 9T URE ® we

ﬁﬂ—w,f% Bk %f%?

'aﬁrﬁmwm
Fr fag g ﬂﬁ’ﬁﬂﬁr%’mqﬁq_
'ﬁ_

{a}laﬂ?za\:ﬁ

(b) Feer 1
(c)-saesr 2

D 1=rdo

i :
aﬂa—w,«*%ﬂﬁ%/%’? e TN

St "mgffjif?iffim - P
AEe i T ﬁﬁ?uﬁl
o e LU




- 5 equivalent vertical lines are d

59. Consider the fuilﬂwmg stalements -

1. Moradabad is renowned {oy
carved a niche for itself;
throughout the world, '

2. Moradabad Spem-ﬂ Economic 7o
first SEZ in northem e e e
Pradesh Government, ~—

Select the correct answer using the code gm:n below:

Code -

(@) Only 1

(c) Neither 1 nnr:!

orle and has
m the handicraf{ industry

~ (b) Both 1 and 2
) Only 2 '

60. Given below are two statements. One is Jabelled as

Assertion (A) anﬂ the other as Reason (R) :. _
Assertion (A) : Jdunpur i8 known as Siraj-e-Hind. ~

Reason (R) : Jaunpur was a great centre of education -

during the Shargi period. —~

Select the cofrect answer usmg the code gi iven below:

Code - :
{a] (A) is true but {R} is false.

(bLBoth (ﬁ}_and (R) are true 'fmd (R) is correct

explanation of (A).

(c) Both (A) and (R) are true but (R) is not correct

explanation of (A).
(d) (A)is false: but (R) is true.

61. Rocket works on the principle of: the following :

(a) Energy Conservation (b) Bernoulli Theorem x
Conservation of (d;l Avogadro’ ﬁ Concept
Momentum .

62, Regarding Punjab Merger, whmh of the t‘r.ulIawmg

statement is false?

\(#/On 29% March, ‘1849, he Governor General

announced that the state. of Punjab hiad come to

an end.

(b) All the territories of Maharaja
became part of the Indian British Empire.

(¢) Duleep Singh was given an annual pension of

< 2,50,000.
(d) None of the above
rawn on a I}Dﬂ!d 5
equidistant horizontal lines are also drawn on the
board cutting the 5 vertical lines and the dmi,anc:fi-
between any two consecutive horizontal lincs 1;; ::qua

to that between any two consecutive vertical lInes
What is the maximum number of squares, thus

India developed b}f Ulttar

Duleep Singh

59. PR

' 60.

i e e B
W%ﬁiﬁmaﬁhaﬁ

?ﬁmmwﬁﬁq—rﬁmmﬁaﬂ#wm
mmwﬁa "
2$WmmmmWMQmwwm
wmwmﬁwﬁﬁmsm%

1.

(a) @del 1 (b) 1 @iX 2 BT
(Qaar1eTEr2 (d) Haet 2

ﬂﬁﬂﬁﬁ?ﬂﬁ%lwfﬁ"ra&fﬁaﬁﬁ{h]@?
E@iaﬁwm}ww%

- i (A) ¢ : gY@ R0 & am 9
W E |
. &R (R) : mﬁmﬁwtﬁwﬁ

% Wy H o

1% Ry g e ¥ ¥ IR IFAT ;

He ="

{a) (ﬁ;m%ﬁa—v@{mm g1

(b) (A) 3R (R]T::‘r#lw %aﬁv(m (A}a?rﬂér

i re -

(@ (ﬁ)aﬂ?{m-ﬂ‘m‘!m% ﬁ?ﬂ (R), (A)Eh”’r-ﬂﬁ :

61.

62.

o1 ro B o
(d) (A) s frg (R) & 2| _
ﬁmﬁr@ﬁﬂﬁiﬁiﬁmﬁﬂ@ﬁﬂﬂ?frm

27

ialrm‘fmw (b) wifeil . _
(c) rfel T ExEv (d) STTENTIET @7 TGEREM
o & e & e ﬁmﬁlﬁﬂﬁﬁﬁaﬁ?{w :
Y A 87

(a) 29 #r4, 1549ﬁw4?ma%aﬂ?ﬁﬂﬁw

gﬁﬁawamms‘rw%

(b}meﬁnﬁﬁzﬁwmmﬁﬁﬁ%ﬂ

AT & R g T E |

(c) =eiy RiE ®12,50,000% aﬁasﬂwﬁﬁ’fﬂs‘t

{dlmﬁ@!ﬂﬂi‘ﬁ

'WﬁﬁWEWﬂWmmﬁgl

9 W 5 SRR Yl B wed g s e
AT Yl off W T ¥ | Rol < P SR
YRl @ 99 B g < Py &R Yl
@ e A A D T B 5 v T e

@1 e e o &2
{ﬂ]' 16 [b} Eﬁ
(c}:30 tﬁ}maawaﬁéaﬁ '

formed?
a6 (b) 26
v (2) 30 (d) None of the above
rﬂ?ﬁi}‘“‘ — Ppage 15032
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B4. With reference to “69" National Film Awards for
2021, which of the following statement/s is/are
correct? '

1. "RRR” and “Gangubai Kathiawadi” bagged 5 and
& Mational Awards respectively. 7’5

“Rl:rckcn-y The Nambi Effect”

won the best
Feature Film Award e '

Select the cur{;:bt answer using the code given below:

64. ‘o8 s e

| o
2021" & wWedw #
Pl wom /Bt # W @ W/H W

B/87
I, "SRR, SR e weaars!” Eﬁm

5 4R 6 U gRePR fAe |
g”gmlff g 41 ghae F WG Wi e 9

Qe Sffdr |

- pIforg;
Cﬂdﬁ - .“ E v .
(a) Neither l.nqgr 2 (b) Both 1 and 2 (@) 7 dr 191 & 2 (b) 1 ik 2 qFl
_feyonly2 W (d) Only 1 (c) Fast 2 (d) B 1 ‘
65. In reference to M&ngala}uan launched by ISRO, 5. TR gN wfg [y e wererEr _"i; W
consider the following statements — R weRl w® fER $i - g
(D) Itis also called as the Mars Orbiter Mission. S Vi 5] Gﬁﬁ?ﬁ' ﬁl’i‘l"'i AT gﬂmu
() It was lau{i%hed on November 2013 %E;‘:q iTrqﬂ i E;ﬂlgj st e R B
Select the corgect answer using the code given below: By - @ ; ;
Code - ‘!Eﬁ ' .
ey E -
(a) Neither Ik 11 (b) Eumlandu_ @A IMAT. (B) 13RI <
(c) Only I Ady Only 11 (c) Faa 1 (d) Baer I ;
66. Which of the following statément/s is/are correct? 66. fr=iferitad weomt # § P/ ud & /82
1.ITC me:ans"ﬂ;le credit of Input Tax on the supplles ' 1. ang. & &1 Ferd ol gl afie g ume
7 of guuds'h-ﬁﬁd services or both received by a TG A e @ #Fh zﬁ EﬂT{ﬁ-‘f w ﬁﬂe
rcg;stereiperson i ;?ﬁ% Eaaﬁ%:ﬂam 5 - _ﬂﬁ N
ETH' e
(.«% Ehglblhtye}‘.ﬂITE which may be as undet-taxable e & A, '«‘-‘l"h'q ‘-313![ N
supply, non-taxable supply, zero-rated Suppljr W%ﬁ'“ . L g Y {f?i
Cﬂde % i W = ;
{a¥Hoth 1 and 2 th} Only 2 (a) 1 aiw 2 :ﬁﬁ"r (b) @aer 2
(€) Neither 1 narz . (d) Only 1 (©)Far1wd2 - (d) FEer 1
67. Which of the- fcl]nwmg statement/s is/are incomrect?  67. 'ﬁ'ﬁ%‘mﬁ AT/ T F B/ o
A. Part 1T on E}ndamcnta] Rights of the Constitution Toie & /57 B
is based ufion Bill of Rights of the US.A. — . A s SEBR W HAET w5y AT AT, B
B. “Right to ]a;?; is a Fundamental Right under e i VESH W A & |
Article 21 of the Constitution. B. WM & aq@T 21 @ gt T @
(', Indian Constitution is a cumplete Fedf.'ra] CIBEare AT Sflsr & il
Constitution. 3 LN o ﬂﬂﬁ’m ‘Ffﬁ’lﬂ'[?r P Iof ey iy 8
D. Fundamental Rghluan be remov D. A WA @ sy T SR @)
Indian Constitution. ¢ BCHIT ST WeaT & | | S
Code - . dﬁ . o - | .o
(a) Only BandC- (b) gn:}' gag r : {a] &ae B 3w C (b) EB—"—'I?-E'C sy D
. n an Hae
(c) Only B /(df J () - (d) B B, Cafir p
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' 71 Prom his house, Lokesh went 15 kms to the north.

68. Match List-I with List-I1 and clmﬁse the. correct
_answer using the code given below:

List-I :
(Name of Academy) _ (YEL;:EP :
E :
A. Rajya Lalit Kala Academy, - Sta:',hf gh;;ﬂ“lj‘
Lucknow - =
B. Uttar Pradesh Sangeet Natak 2. 1975 %‘3
: Academy, Lucknow % 42
C. Bhartendu Natya Academy 31963 ¢33
Lucknow
D. Ayodhya Shodh Sansthan 4. 1962
Avodhya A
Code - : )
_AGTA4,B-3,C-2,D-1  (b) A-3, B4, C-1,D-2
() A4,B3,C-1,D-2 (d) A3,B-2,C4, D-1 =*
69. Given below are two statements; in which one pres

Jabelled as Assertion (A) and the other as Reason (R}

- Assertion (A) : The Constitution vests the Executive,)
Power of the Union in the President o t_j:.dﬁl o

Reason (R) : The President of India is the
" Constitutional Head of the Stater™
Select the correct answer using the code given below:
lee -
th (A) and B o ®) is mrreg?
explanation of (A).
(b) Both (A) and (R) are true but (R) is not m""’*E,,i‘i
explanation of (A). _
(c) (A) is false but (R) is true.
(d) (A) is true but (R) is false.

....A. '

| 70. With reference m “ictoria Falls in Africa’, which ﬂ
the following statement/s is/are correct? &

1. It is located on the I:-nrder ‘of Zambia ands
Mozambigue.x :"ﬁé’:-

2.1t is situated on Zambezi Rivers=" Gag
Select the correct answer using the code given below't

Code - ;
(a) Only 1 (b) Both 1 and 2
\(eLoqly 2 " (d) Neither 1 nor 2

Then he turned ‘west and covered 10 kms. Then he

turned south and covered 5 kms. Finally turning to
east, he covered 10 kms. In which direction is he from

68, W—Iﬂ#?ﬁﬁ—ﬁﬁﬁﬁf‘rﬁaﬂﬁmﬂmﬁﬁm

T¢ FE W GEl IR gHY —
i 11
(erareHl <1 =) (g 74)

A. 3T Aferd wenr arpranl, 1. 1986
TETS _

B. 9T¢ W& Hilid Aed 2.1975
ArhTEHT, TS :

C. WRt+g ey e, 3. 1963
TETH '

D. s 9T Her, 4.1962
3y

HE — i . . -

(a) A-4, B-3, c2,D-1 (b) A3,B4,C-1,D-2

{c) A-4, B:3,C-1,D-2 (dy A-3,B-2,C4,D-1

591#?3[3‘!33&1#%‘1@%%@@3%

FMES (A) aﬁ?@%aﬁaﬂm(mww%
ATNHU (A) : R, e @Y St e
g mﬁmmﬁrﬁﬁﬁ—rm.%l

HRYT (R) : WG BT AU T4 aﬁlﬂﬁmﬁm;@a

: i 2.
'ﬁﬁqwﬁﬁrmaﬂmﬁwaﬂw
e~

71.

{al(mqa{maﬁﬁﬁq%afﬁm) (A}a?rﬂé‘r
2 Hedl € |

{h}(m:ﬂﬁ?m)a‘m‘rmﬁﬁﬁfﬂ) (A}ﬁﬂé’r
T FTal B © |

(¢) (A) sy & frg (R) o1 2|

(d) (A) T & fFg (R) aed B | _

T # feiRm oI B q-ﬁﬂi ﬁ

frerfaifa 3§ w1 /Y B W & /7

i 7 it @R wrofas & @ oe aafer &

2. 8 W el U Rem B

‘ﬁ‘ﬁﬁﬂﬁaﬁaﬂa‘mmﬁg’;wmm

PR _

%ie — : _

(a) Haet 1 (b) 1R 22

(¢) Haet 2 +(d) 7 T 177 2

e g 'Y 9, 15 fA 9w 1 ol =en )

firy =8 ufvem B AR ger @R 10 fEA. T | v

a8 2T 9 AR ST oK 5 FroAl =) o § o

# SR e, T 10 R A 8 T A1

SRS

=i

his house? o B W e fowm 3 @2
() East (b) West _ (@) g : (b) GR= . |
g} North (d) None of the above (c) 9% (@) SR A 9 P 7
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T2,

Given below are two statements, in which one is
labelled as Assertion (A) and the other as Reason (R):
Assertion (A) : Significant technical and institutional
reforms in Indian agriculture are —
required to feed the growing population,
Reason (R) : A significant number of farmers in
many parts in India still rely on monsoon .—

rains and natural soil fertility for agriculture.

Select the correct answer using the code given below:
Code - - ' '

~£a} Both (A) and (R) are true and (R) is the correct

?3‘

74,

76.

()4
75.

explanation of (A).
(b) (A) is true but (R) is false.
() (A) is false but (R) is true,

(d) Both (A) and (R) are true but (R) is not the correct
" explanation of (A).

Which state of India is renowned for its deposits of

limestone, gypsum, salt and zinc?
(@) Haryana kBT Rajasthan
(¢) Gujarat (d) Punjab i
One fourth. of the sum of the odd numbers greater
than 14 but less than 50 is the square of -
(a) 2 (b) 24
‘_r.,Ld')'N one of the aboye |
With reference to the Gaza Strip, 'which of the
following statement/s is/are correct? '
1. It is bordered by Egypt—"
2.1t is bordered by Israek—" :
Select the correct answer using the code given below-
Code - A
(a) Only 1
Ay Both 1 and 2

(b) Neither 1 nor 2

3 (d) Only 2 .

Consider the following statements with reference to

Uttar Pradesh Global Investors Summit-2023 -

1. The Summit was held in Lucknow.

2. The Summit was inaugurated by the
India, o 2

Select the correct answer using the code given below:

President of

© Code -

77.

78.

[c-011

\(af Coffee Board — -

nly I {b) Neither 1 nor 2
(c) Only 2 “{d) Both 1 and 2
Which one of the following pairs (Visitable places -
Districts of U.P.) is correctly matched?
(@) Devi Patan Temple — (b) Chinese Temple —

Shravasti 72 Mahoba
awani Imali, (d) Samaspur Bird
~ Shaheed Memorial — Sanctuary — Amethi
~ Fatehpur '

Which one of the following (Boards in India -
quuamr] is not correctly matched? -

[E}__Iﬂa Board — Kolkata
Hyderabad

! _Kochi (d) Rubber Board —
: (E),.Spmﬂﬁ Beprd - ") Kottayam

F ¥ TP B
; po Ry my & Frd =)
P () e R 3L @) T LS
i (A) S B IE T o ey
_ v i 3 FEEAL TN
T QI A SETC L)
. & we fewdl H 931 TEIl
) ﬁzﬁmm‘x’fﬁﬂq‘fﬁ?%
Sézar ® FrR | /
A e v HE | WEN B DL AT P

T3.

74.

75.

W $ HeRy @ oy witg &7
(a) &R (b) oTerT
(c) =T (d) gsime | - '

' (a) 2@

B/ "R R

(a) (;) s (R) 2F &g & @R (R), (A}_ﬁ_ﬁﬁ
2T el © | -

(b) (A) W Egﬁgﬁﬁm)m g: /

(e} (A) e (R) T |

(d) (A) 3%, (R) <FT wed & frg (R), (A) BT W&
STy el ween g1

R T B A I v, e, e ai

149 93 U 50 9 B fuw HEgRit § A @
Tl T 8 - : -

I (b) 24 =1 : _
(c) 4 w1 : (d) Sudias # & H1E TE
T gedl & wead |, Mefalen suw s wuet §

1. 593 9 g 9 s 2 .
2. 3B WHT g9Eel W A 2 s
i 2T Y fe | uE SR B 99 2w —

- | i
(a) g 1 (b)Y s ar1+-782
(€) 1 af® 2 5=} (d)@am 2

76.

7.

TR URY dfTw B

fraw o003
wa H PrefaRed waet w ﬁaﬁwﬁﬁqzj}zs .

1. Brem wwEs

; TS H wrEniTa frar e e
z.f‘@‘mﬂ‘*:ﬁanmmmw TRy
D 2 i 51 My
REA 3 TN R W SR g

{;}T‘-FJ_CFFT] l:b.}‘-‘-[‘{.‘f[l : '
(c) Haet 2 {d)!qﬁgﬁz
ﬁ“ﬁ"mﬁ?ﬁﬂﬂiﬁﬁW~Em.zﬁﬁa}ﬁ¢
(a) <& ures gy () -
o () A+ =R — wem

- (e) T TN, v

PRI ¥ ¥ B

) TR e e
AT S

HEATE) T e @7 .
(a) i g1 — BENETE {b}%rm T
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79. Match List-l with List-Il and select the correct
answer from the code given below -

List-I List-IT
(Capital City) (Country)
A. Klam;fala-ﬂ- 1. Rwanda
B. Kigali ~| 2. Uganda
C. Kinshasa — "t 3. Sudan :
D.. Khartoum .,.f'? ‘4. Democratic Republic of the
; Congo e e

Code -

(a) A-1, B-2, C4, D-'J.
_Ae) A-2,B-1,C-4,D-3

(b) A-1,B-2,C-3,D4
(d) A-2, B-1, C-3, D4

various passes- called Ghats in the Western Ghat is —
(@) Thal Ghat — Pal Ghat — Bhor Ghat
(b) Thal Ghat — Bhor Ghat — Pal Ghat
e Bhor Ghat — Thal Ghat — Pal Ghat]
(d) Bhor Ghat — Pal Ghat — Thal Ghat

| 81. Match List-I and List-Il' and choose the correct
answer using the code given below -

List-I List-IT

(Gold Medalists) (Game)
A. Annu Rani — | . 1. 5000 metre
B. Parul Chaudhary 2. Javelin throw
C. Tajinderpal Singh Toor . - 3. 10 m. air pistol
D. Palak Gulia 4 Shot put
Code - ' :

(@) A-2, B-1,C-4,D-3 - (b) A-1,B-2, C4,D-3
(c) A-2, B4, C-3,D-1 _4dA-1.B:2,C3,D4

82. In a group of 25 people, 12 read French, 15 read
- English while 6 of them read none of these’ two. How

many of them read French and Enghsh but}ﬂ . :

(@0 ABY8
(c) 4 {ﬂ} None of the above

83. Mateh List-T with List-I and choose the correct
g the code given below the lists :

List-1 List-H

(Product) (District)
A. Kala Namak Rice /> 1. Pratapgarh

answer usin

B.Desi Ghee—3A 2 Kushinagar
C.Amla —1|. 3. Siddharth Nagar
D.Banana Fiber .3, % Avraiya
Cﬂde = ..--'"""

(b) A3, B2, C-1, D-4

(@) A-2, B-3, c:4, D= 4
(d) A-4, B-3, C-2, D-1

80. The correct sequence from north.to south of the .

- B3,

79.

- (€) A-2,B-1,C-4,D-3
. uftepdy ore  fafet =% R T1e HEr W 8, 3

-1 @ el § gaferd ﬁﬁmz o A R

Te A W Wl TR g -
w1 -1

(R ¥7EY) (@)

A, DUAT 1. =T

B. et 2, TS

C. feperren 3. gar
D. @A 4, ST Fpai® TR
ﬁg_? J—

(a) A-1, B-2, C-4,D-3  (b) A-1,B-2,C-3,D-4 .
(d) A2, B-1, C-3, D4
e W 2R @ e e -

(8) onrer |re — WrE WIE — R HIE

(b) g7y TIre —> A HTE. —> TS HIE

(€) wi mre — el B1E. — U HIe

{d) o HIE —> IR EE — U e

81

ﬂﬁl~raﬁ?1§ﬂ—ﬂiﬁr@}ﬁrﬁaﬂﬁ?ﬂﬂ?ﬁﬁﬁ?

Y e 9§ 9w ghy —

-1 B

(vt v faer) (=)
A= oA 1. 5000. /<X
B. Uroel e 2. Tl B
C. oferewarer fiE g 3. 10 9. T fivea
D, U@ Iferar 4, 7e $E
a-,_g:_"_

(b) A-1, B-2, C-4, D-3

(a) A-2,B-1,C+4,D-3
(d) A-1, B-2, C-3, D-4

(c) A2, B4, C-3,'D=1" .

. 25 S} @ U WE A, 1290 BE e €, 15am

Sfiofl ed € Wi 9 § 6 ST $9 ST @ A

God ¥ o ¥ R @ Wa wer s At
T ¥
(a0
(c) 4

(b) 8
{dlﬂ‘qi‘mﬁﬁfrﬁéﬁﬁ

Tﬁ—lﬁﬁﬁﬂﬁﬁﬁ%ﬁﬂ?rquﬁtﬁzﬁ
A Ay Y g BT T SR wE TR gAY —
- -1
S T
A. BT TG AEA 1. TS :
B. et #1 2. HETIR |
C. Jigear 3. firgef TR
. D. Bell BIEaY 4, 3iar
a-a—(:_

- (a) A-2, B-3,C-4, D-1

(b) A-3,B-2,C-1,D4

(c) A-3,B-4,C-1,D-2 (d) A4, B-3,C-2,D-1

| 2LA-3,B4, C-L.D2
r""'-—-._____'_____._-—-—-—
h'“'nl] i iq

fe 282 @D |

‘E»
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84. With reference to Tulsidas, which of the fclluwing
statement/s is/are correct?  vF
1. Tulsidas was born in a village named Rajapur in
Banda district. . ;
2. His wife’s name was Geatawalyl’(
Select the correct answer usmg the code g;wr.rl below:

Code -
(a) Only 2 (b) Both 1 and 2
~A€) Only 1: (d) Neither 1 nor 2

85. Tf a clock gains four minutes every hour, the angles

traversed by the seconds hand in one minuté will be-

(a) 360°

_ke) 384°

86. Match List-I with List-II and choose the correct
answer using the code given below the lists :

_k,&b}' 360.5°

~ {d) None of the above

- List-T List-II
A. Article-26-5 1. Administration of Union
Territories .

B. Article—40~". 2. Secretariat of Farl:ament
e o+ ﬁm:;ln—gﬂq_, 3. Freedom to manage religious

affairs
D. Article-=239 4. Organisation of Village
b Panchayats
Code -

(b) A-3, B4,C-1,D-2
(d) A4, B-3,C-2,D-1

- _A#) A-3,B4,C2,D-1
(¢) A-3,B-1,C2,D4

87. According to the 2011 Census of India, the

percentage of India’s urban population was -

~ (a) 30.7% ; 1.2% o
‘/{CJ 31.8% :d} None of the above
88. Match List- and List-II and select the correct answer’
using the code given below —
List-I List-II
(Mountain) (Continent)

A. Andes =Y 1. Europe

B. Altai — 3 2. North America

c. Alps =\ 3. Asia

D. ,qPPaIaEMan ""L\ 4. South America

Code -

(a) A-1,B-3. C-4 D-2 {h} A-4,B-3,C2,D-1
) A4, B- 3,C-1,D2  (d) A-3,B4, C-I D-2

ertal
89, If in 2 c MGSNDI then how is JUDICIAL written

84.

- {a) 30.7% (b) 31.2%

" (e) 31.8% [d}qqﬂfrﬁﬁ:ﬁaﬂa‘ﬂﬁi
o2 Tﬂ*lww-uﬁﬁﬁ%ﬁmw%ﬁﬂ
. TEHE W el 9T R -

S -1 s
(k) (FETE)

E‘E 2. Tl e

: 3, Tf¥rm

g%w 4. g srReT

n code, CORPORATIONS is wnuen as.

& g Frefefeaa e ﬁ‘ﬁ
Al '@['ﬂ'ﬁf%,f%?
_ Wﬁg{ﬂﬂ” .
" o, g O P T e o |

'{Eﬁa’—- I
@@z (b) 130 2T/
(c) B 1 (dadrimeEz

85, o s w2 & 4 P o @3 o 2 @
wmﬁﬁﬁﬁ@wmﬁﬁmwm
BT —

(a) 360° (b) 360.5°
(c) 384° (d) SoRrERT § 9 B @
86. <1 @1 -1 & AT AR T RN 3
4t g TY FE HT AT DR I GO
- gl -1
A. 26 1. TR &TAT BT TR
B. aeE—40 2. ¥ P Aided
C.aeee—98 3. Hifffe Bl & vgw #1 T
D. gwE-239 4, U9 YHAEHl H1 TS
 ®E
(a) A3,B4,C2,D-1 (b) A-3,B-4, C-1,D-2
(¢) A-3,B-1,C-2,D-4 (d) A-4, B-3,C-2,D-1

87. Wi I 2011 ) ST P FTAR, ARG H
TR SIS S AR o —

(8) A-1,B-3,C-4,D-2 (b) A4, B-3, C-2,D-1

() A4,B3,C-1,D2  (d) A3, B4,C-1,D2
8.t fftad @re ¥ CORPQRATIONS 4

PROCTAROSNOI & w4 § foral 7 &, df ¥4

PROCT ®1E ¥ JUDI
in that ;ii i (b) UJIDLAIC (a) ]]DUJ;I-E[IEM b ﬁ{? l?anJ;HLlic
Ea; JI:IJZ}IIDI (d) None of the above (¢) UJIDICLA (d) g # ¥ B
c P Page200f32 .
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90. Given below are two stalements, in which one is
labelled as Assertion (A) and the other as Reason (R):
Assertion (A) : The Bengal British Indian Society

was founded in 1843 as a result of
George Thompson's efforts.

Reason (R) : George Thompson was brought out
from England by Dwarkanath Tagore
to organise the political movement

Select the correct answer using the code given bf:lcw

Code - '

/,.{a-) (A) is true but (R) is fals:z
(b) (A) is false but (R) is true,

(c) Both (A) and (R) are true and I_’R) is correct

exp]anﬂﬂnn of (A). ;

(d) Both {A) and (R) are true but {R is not c:nrrecl

explanation of {AJ

91. Find missing number in the following ﬁgurf: -

(a) 1
_A8) 31 .
92. Consider the following statements with reference o

National Book Fair -
1. It was organized at Lucknow fmm September 22

to October 2, 2023. Vol

271t was organized by Government of India.
- Select the correct answer fmm the code given below-

Code -
,Lbi'ﬂnl}r 2

(a) Only 1
(c) Both 1 and 2 (d) Neither 1 m_:rz

93. Given below arc- fwcr statements, in which one is

Assertion (A) and the other is Reason (R) —
Assertion (A) : Narges Mohammadi was awarded

[d} None of the ah::wc

' Nobel Peace Prize for 2023.
Reason (R) : She fights in the favour of freedom of
Press.
Select the correct answer using the code gwen

below —
Code -
(a) (A) is false but (R} is true.

explanation of (A)-
(c) Both (A) and “(R) are true and (R) is correct

explanation of (A).

(b) Both (A) and (R) are true but {R) is not correct

ﬂﬂzﬁﬁa‘rzﬁdmfﬁq

91.

. 92,

E o @ T W

ST (A) wa@%ﬁwm}mw%
afmer (A) dme ffew gfeas wwmgel
: e 18435 # Sl o ®
mm’raﬂqﬁﬂmw

FRT (R): m‘rﬁiwm’rwéﬂﬁ?ﬁ@

& TR IR deerT T e
@ forg @y o

ﬁ%ﬁqummﬁaﬁﬁ?mgﬁﬁ

a}_ﬁ_

(a) {A}ﬂw%ﬁ@m}m gl

(b) (A) ara & fhg (R) wed B

(c) (A) 3R (R) sFF Wiy € @R (R), (A) T wE
=TT Bl E

idjm}aﬂ? (R) aFi wed ¥ fg (R), (A) B W&l
T T BT B

ﬁwﬁ-ﬁaﬁaﬁmmmﬂ%ﬁw~

Q.
2L
(a) 1 (b) 26.
(e) 31 (d) SuRteRT H ¥ BIE T8

Tt e e B e ), e wo "
far Wiy -

L8 22 ﬁmﬁiﬁzm 2023 Hiﬁmﬁ

smeifera firam T o)
EWWWWWWWWI

*ﬁﬁﬁqﬂ?ﬁﬁﬂ‘é’rmgﬁq-

HE — :
(a) dae 1. (b) Fraet 2

- {e) 13 2 g0 dagsr1id2

- fiig g7 wee fRy Ty & ﬁlﬂ#%waﬁﬁm(m

3iR T BROT (R) & —

o (A) : T A 312023 Ry M

- it SRR W e R
SR (R) : 98 09 B A & o § aed )

.ﬁ%ﬁ?mﬁmwmaﬁw_gm_

e —

fﬂ}(xﬁ)mﬁl%%m}m%[ .
Wﬁﬁ’fwﬁl

() (4) siR (R) BHf wew & &R (R), (A}a?rqqﬁr-_
T T & |

{d}(A}W%ﬁiﬁ(RjamFﬂﬁ'F

(A) is true but (R) is false.
(- -01]
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94. Consider the following slatemamm‘with reference to

94,

Uttar Pradesh:

1. Ayurveda Mahotsava 2023 was or gdmaed in
Jhansi. ¢ :

2. Taj Mahotsava 2023 was organised in state capital,
Lucknow.

Select the correct answer from the cude given below:

Code -

(a) Only 1 Meithar 1nor 2

(c) Only 2 {(d) Both 1 and 2

95. Match List-I with List-II and select the correct
answer using the code given below:

g5,

List-I List-11
(Painting) (State)
A. Madhubani—{ 1. Odisha
B. Lepakshi —% 2. Maharashtra
C. Pattachitra - | 3. Andhra Pradesh
© D Warkie 2 4. Bihar
‘Code -

(a) A4,B-1,C-2,D-3 ~ (b) A4,B-3,C-2,D-1
(¢) A4,B-2,C-3,D-1 _{h A4, B-3,C-1,D-2 _
96.

o g & w=d o frefiea FeEl o faEr

wiforg :

1. s weYew 2023 wiidt # s far w4
af |

ZWﬁmﬁzuzzﬁmaﬁrwaﬁm i
armafere. fawar war o)

Fﬁﬁﬁqwiﬁﬁﬂﬁﬂﬂ?ﬁﬂﬂﬁﬂﬂ’m*

%iE —
(@) P 1 (b)yadriar &2
(c) dmer 2 - (d) 13w 2590

-1 1 wE-11 ¥ gafea @i g e ey e
ﬁﬂﬂﬂﬁ?ﬁﬁﬂﬁﬁﬂﬂwm -

-1 gA-II
Aqgaﬁ‘i} lagjr}
B. sref 2. TERTS
C.uzhm 3. e E

D, At 4. faER
EEE_

(b) A-4, B-3,C:2, D-1
(d) A4, B-3,C-1,D-2

(@) A4, B-1,C-2,D-3
(¢} A-4,B-2,C-3,D-1

96. Consider the following and arrange these in P o RER $ifm a2r = omafy @ aed
increasing order of frequency : w9 # erafier ?ﬁiﬁ‘ﬂ _
@ X-rays (IT) Visible rays @ TN : (IT) ﬁﬂﬁ?’f
" (T) Infrared rays (IV) Radio waves (II) Srereery vl (IV) XT3 o33 '
Select the correct answer using the code given below: A m Y HE HT AT H el IR DA
Code - Eﬁiiﬂl{- § | 3
@ILILORL. B EaallL e (@ ILILIV,I (b IV, I, LT
(LI, E 1N QAL 1, N () I, 10, I, IV (d) I, I0, I, IV
97. Consider the following statements with reference to ~ 97- SER WeW WA AEH ywEH @ owEd
Uttar Pradesh Sangeet Natak Academy — - e swai o e sy —
(1) It was established in the year 1965. A (1) goes! zemen o 1065 % g8 =)
(2) It is located at Varanasi. : (2) 75 AR § fem g1
Select the correct answer from the code given below— s BT 1T wme ¥ Wit oI @ qﬁ'rq s
Code - ME~
(a) Only 1 AbyNeither 1 nor 2 (a) ﬁ;ﬁ 1 = (B) a1 é‘r 5
(c) Both 1 and 2 (d) Only 2 - (e) 18R 2 gFF (dy@gar 2
98. Which of the following statement/s is/are correct? 98. fferfae wuF /werl H W BE-W/W "ﬂ_E-Pi
I The sugar industry was initially located in Uttar 2/E
Pradesh L. meqﬁ?mﬂﬁuﬁm1
. The low yield of sugarcane, short crushing L 71 & ° 9w, ®4 0§ WA, SO @
seasons, unsatisfactory location of industries SIS STl ¥ T SereT H RiRiceiin
created problems in producing sugar, - il |
Code - : R} . ﬁ’[ W
(a) Neither I nor I (b) Only I . @FdIT S (b} I
oth Tand I1 (d) Only IT . (e) 18R I g (d) et T
he first to use the word ‘Megapolis’? 199, FIfE W W e wduem T feam
9. AVho was the i (b) Taylor (a) ST wifeiA (b) 2
() Jean Gottm (d) None of the above (c) fay (d) ST A W B

[c-01]
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104,

100. Which one of the following is the correct sequence of ~ 100. fyw= 3 ﬁ I P D 1 =

administrative division during the Gupta Period?
(@) Bhukti — Vishaya — Vithi — Grama 12
(b) Vishaya — Bhukti — Vithi — Grama o

_A€) Vithi — Bhukti — Vishaya — Grama
(d) None of the above

101. Consider the following statements with referenc& to

Scheduled areas —

L. The President of India notifies Scheduled"n'};as

2. State with scheduled areas need to constitute a

Tribal Advisory Couneil. - .

- Select the correct-answer from the code given belﬂw-
Code - ' :
(@) Neither 1 nor 2 (b) Only 2

o) Both 1 and 2 (d)Only1

102. Consider the following statements with' respect to

Directive Principles of State Policy: !
1. They are not enforceable by the Courts—

2. It shall be the duty of the State to apply these

me-::iples in making laws. _—""
Select the correct answer using the code gwan below:,
——

Code -

‘(&) Only 1 b Both | and 2

(c) Only 2 (d) Neither 1 nor2
103. Match List-1 with List-II and select the correct
.answer from the code given below - '

List-I List-II
(Coal Based Power Plant] {Located in State)
A. Kahalgaon 1. Madhya Pradesh .
B. Khargone ‘2. Bihar
C. Korba 3. Karnataka
D. Kudgi _L/z 4. Chhattisgarh
Code -

(a) A-2, B-1,C-3,D-4 (b) A-1,B-2, C4, D-3
{c] ﬁ']: B'zﬁ C-'S? D.4 fmﬂ‘.z, B'].,lE__g', D-3

coal -
1. India is one of the world's leading producer -::rf
coal. ~ R
2, India has vast coal reserves in states like J harkhsmd
* and Chhattisgarh,
Select the correct answer from the cmle given below:
Code -

Consider the following statements with reference to

101.

102,

wEl S 27

(@) iy — fawa — Ay — 7

() far — it — Ay — 79

(e) difer — faw — fwg — 7™

(d) IET § 9 @i @
aﬁﬁaﬁﬁﬁmﬁﬁﬁmﬁﬁﬁwﬁﬂﬁﬂﬁ

Wﬁmﬁmﬁﬁmmﬁ’raﬁ@ﬁw

Bl.
zmﬁmmﬁmﬁﬂmﬂzﬁrmﬂmﬁumﬁﬂ

qf¥ge- 7 TS FIAT BT H 1

ﬁmwf@@gﬁrmqﬁ?—
Lhs
{a,\ﬁﬁrlrﬂﬁz (b) Faer 2
(o) 1afm2erl (d) Faer 1
e @ Af PRTe oW @ W A, Pl
Pl W fraw Fife

104,

1.&@1&1@?{@@%@@
2. FA fmiv § g7 Ragial $1 ] S 99 B
ey B ;

ﬁ%ﬁqm@aﬁrmqﬂ.ﬂﬁwﬁ
&2 : : .
{a}-cﬁ—:ﬁrl (b) 1 & 2 ST
(c) Fae 2 {dlﬁﬂ‘rlmiﬁz _
103@—1@@4%:@#%%%%@
. W?@ﬁﬂﬁaﬂ?aﬁv—
-1 S c1 | SR
(ﬁhﬂ'rmmﬁaﬁm-ﬁwa] mwﬁmﬁwm}
A. PEeG 1. 7= Wy
B. ©H 2. fasm -
C. ®RaT 3. T ies
‘D. BEAl 4. BT
B T : e

.(8) A2, B-1,C-3, D4 (b) A-1, B-2, C-4, D-3

(¢) A-1,B-2,C-3,D-4  (d) A2, B-1, C4, D-3

A B o= F R st oo ﬁr‘ﬂﬂ

BT —

IT gﬁmﬁﬁhﬁﬁwﬁmﬁﬁw
I

zw%maﬂ?maﬁ :
w foume Wer #) mmﬁffaﬂ'u?r

- R TR W W we g

. 7T ~
JSarBoth 1 and 2 (b) Only 1 (@) 1 v |
: w§ 2 ®Hl
(€) Neither 1 nor 2 (d) Only 2 (© = T 1T E 2 ::: ;ﬁ:: ;
[_[]'_ﬁi‘]_- ) Page 23 of 32 |
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105. Match List-1 with List-II and choose the correct 105 -1 & A1 & sH

answer using the code given below -
List-I

List-I1
(Important Days) . (Date)
A. World Population Day -4 1. March 03
B. World Wildlife Day 2. July 11
C. World Ozone Day— Y 3. April 07 i

'D. World Health Day

(@) A2, B-1,C-3, D4 e o
~—{T A2,B-1,C4,D-3  (d) A-,B-3,C4,D2. "l

106. With reference to the “Great Barrier Reef”
the following statement/s isfare correct?

1. It is Siluati:_':_jl-’_gmg the north-eastern coast of

(b) A-1,B-2,C-3, D4

Australia. :
2. It is more than 2500 kms in length, ~ il
Select the correct answer using the code given below: E"j..l."
Code - - _ : L ‘{:
(a) Neither 1 nor 2 .{h/} Bothland2 nE;h}.
(c) Only2 @O0nly1 1,
107. If the day before yesterday was Sunday, wha

t day

will it be three days after the day after tomorrow?
unday . (b) Monday i ;

(c) Wednesday (d) None of the above Wik

uiligli

108. Given below are two statements, in which one is §

4. September 16 %
Code - | !

(OEERE ¥ 2

By
“ho.

A U Wl I = :
| : f]-;
RES PUREE) gzﬁ
A, faog s 1.7 03
B. e avuvﬁa%ﬁa ggj’#
g.ﬁwﬁmﬁﬂﬂ 4. feer 16

K :
(a) A-2, B-1, C-3, D4

(b) A-1, B2, C-3, D-4
(e) A-2, B-1,C-4,D-3

(d) A-1,B-3,C4,D-2

,which of 106, de Rey p* @ vt %, Prefufam 4 @
DA/ H FUT wer g/ E? :

1. 3E sivefemn & 9TR— aamrﬁuﬁ%i
z.sﬂzﬁrmzsanﬁﬁﬁ@mﬁm%l :
A BT Y g F WE ST W 9 S
H;E - ;

(b) 1 &% 2 &l
(c) @ae 2 (d) a1

AR T fagw & v 29 ud wfEr o, o v &
U & ugEE @ o 59 gwEn S G g
(a) “faw (b) WFaR S iy
(¢) e (d) SuRieRy # & @S T8

(A08.5 77w Ry o ¥ Rl ¥ o o@
labelled as Assertion (A) and other as Reason (R) - ™

Assertion (A) : A condition is a stipulation which 11_5,..'.}.,”[
essential to the main purpose of the contract, {9
Reason (R) : A breach of condition gives arightto -
claim damages and not a right to

AffBe (A) SR TN BT BN (R) H8T =47 2
MDA (A): U I IAT B HET Sevm @ forg
: HEAAE TP W B

HRT (R) : I & Seoios @iyl o1 am s

®1 AABN a1 8, 7 5 S oy
repudiate the contract. . ] ﬂ?&lﬁﬂ‘\’ BT Bl ARHR | -
Select the correct auswer.usingﬂlééud: given below: o e T Y- @ sy BN WE ST, B G
© Code - ' - oy g - - W ) e 8
: 5] 3 ;
MA} is true but (R) is false. g ,,i:g‘,, @ ; :
(b) Both (A)-and (R) are true but (R} is not correct M- E:}; (A) ﬂaﬁ? B ﬁﬁ_[R} HHA 7|
(c) Both (A) and (R) ate true and (R) is correct ki - : el
explanation of (A). ' {c}: (A) 3R (R) 3w ¥ et R). (A) = |
(d} (A) is'false but (R) is true. — @ (T}EE” gl s ﬁﬁl a5 H%q'_%i )
109. The cause of “Minamata” disease is - 109, “fyemmre '\’\FT o E‘EF!UT 2= ;
~ (a) Cadmium polluted &)J_md polluted water _ .
e . watr _ @) D o s (b) o refi s
e w I:;{:It,;-“w polluted (d) giigfuum polluted (€) TR e oo m}‘m R |
110. With reference to the mechanical properties of solids,  110. Bt o FR® i @ wek #
which of the following statement/s ,is!alrf:: correct? i9 B w ,ﬁt{%ﬂ; S b Fr=iferfae Y]
et b e (1) Wt s i W iy
2) gdh:d j:lrs;ﬁj}jl-% of a coil is determined by its Shear (2) fﬁ;ﬁ-\:gﬁa Heeh Eﬁ% e | TED STHR9YT IOt gwy .
(a) Only2 . (b) Only 1 (a) Tae o : (b) 3= 1 y
_4cT Both 1 and 2 {dmﬂiﬂ‘ﬂ'l‘ﬂzp ﬂ_fu'{ﬂnmzw (1718 o
— T Page2dofdz T ——
[C-01] *
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111. Census for the first time ;
during the British era ip he

(a) Lord Dufferin (b
) Lord Lytton
Lord Mayo (d) None of the-above
112. Wlth reference to G-20 Summit 2023, which one of
the following fPartlc]pﬂtlng Countries - Participated

in Ii'ldld was conducted
tenure of -

Head) is not correctly mat.ched? :
(a) Argentina — Alberto (b) Canada - .!uslm e
‘ Femandez . Trudean -
év‘ (c) Australia = Anthony ( t’_9}"]31;1:&;i1 — Joko Widodo

- Albanese

_ 113. With reference to Pres-ervatmn of Wildlife in India,
which of the following statement/s is/are correct?
1. The Wildlife (Protection) Act, 1972 provides legal

framework for the protection of wild animals
only. T
2. Project Elephant aim to conserve w:ld Asian o
elephants only. [T:EE '
(a) Only 1 (b) Only 2 g
_{eyBoth 1 and 2 (d) Neither 1 nior 2 ‘_.'I’ .

114. The height of Rameésh is 5 feet. What will be th A,

height of Ramesh in nanometer (nm)? -
152.5%107 nm (b) 152.5x10° nm
(e} 152.5%10° nm (d) None of the above

States with decreasing population densltjf accordi l 2
to the 2011 Census of lndia'?
(8) West Bengal, Bihar, = (b) Bihar, West Bengal, ﬂr-p

Uttar Pradesh, Kerala Uttar Pradesh, Kerala & 1

(¢} West Bengal, Bihar, (d¥Bihar, West Bengal,
Kerala, Uttar Pradesh Kerala, Uttar Pradesh

116. Consider the following statements with reference to
India Smart City Conclave, 2023 —

u‘_hu

Tt was hosted by Indore city- T
2, It was organised in the month of September. i -..1:I
Select the correct answer from the code given below: " i
de - "

e
(@) Both 1 and 2 (¥ Only 1 v

(¢) Only 2 (d) Neither 1 nor 2

. Acts in their chronological
Amange the fc-]lnwmg
order g&nd select the cmre.c:t answer frmn th:e. code

115. Which one of the fo]lnw:ng is the correct sequence ufJ x 115.

117,

M 3 Rftw o & Frfias § @ e
wRiTer # Ugell aR VT 8% 1Y
(a) i sBRe (b) =ifd fere
{c) wifd w4 (d) SuRia 3§ o Pig AL
112. $fi—20 forar TRIE—2023 Sef + frefer o
J wrwr (e So-ufeeh R W@

ifera =8l 87 :
(a) aféT — G’lf-'élﬁ (b) FreT — ST RO
— SiwRr

() wERer —
(c) s ferar — K{Wﬂ'

w#w&ﬁa‘r%wﬁmﬁﬁ frferfee 3
3 P /Y o e /87 :

1. gt (wveer) SRR 1972 @ae STl
aﬁﬁﬁwﬁmmﬁmmw

B
Emﬁ‘mﬁqﬁﬁtﬂﬂmiﬁﬁﬂﬁmﬁﬁm

1l @1 T e B

(a) Had 1 (b) Haet 2

(e) 18R 2 F1 (d) = &1 1 A7 B 2
maﬁ@ﬂésuﬁa%rﬁﬁaﬁmﬁﬁﬁ’rﬁ
¥ e =rfi? :

. (a) 152.5x107 AARieT (B) 152, :xlusﬁ:ﬁuﬁﬂ

(6) 152:5x10° 3-irdrex . (d) wodiRT # & B =|'.=ﬁ' _
2011 &Y HIRe T TEIVFE] B SER Hed et
et < e i B RN T e o s e e e i s | R
Wel @ 87

113.

(a) gf¥em der, faew,  (b) fER, uf¥=m &9,
() uf¥es g, [@ER, [d}ﬁﬁiﬂqﬁ‘a’qaﬁﬂﬁr
S, IR daT BV, VUL TS -

16, 3R Wi RIA Bew, 2023 &\ ﬁ

FrferfEe et T A w — _

1. SHS ATEHT EaR IS A DY o
2. SuE g Faewae A8 7 garm o)

ﬁiﬁqmﬁﬁﬁﬁwmmﬁm.

9ie = ” :
(a) 13fw 2 T (b) =hae 1

(c) ae 2 (d) = &7 LT 2 2
frefofeg aRfEE & w98 FTTRHRIR
mﬁﬂﬁﬁ@‘ﬂﬁﬁqWﬁﬁﬁﬂ—awm

ELE s
I oy — @ s

IEWEEQI:::IDW. Y L™
. c I Gﬁﬁﬁ'ﬂ'ﬁr
1. Eengall"{‘:;;am}'ﬁ R W mﬁ% R
I Age of Consent Act Nl W{I e mﬂ'{;ﬂ?ﬂﬂ favafemeay mlﬂﬁ’mq
[é:] Indian University At lﬂl\u".!,. :hlj" %
de - Lmandll O (@LIV,HER 0 '
ﬁiiiﬁjﬁiﬂfﬂ j E}LEH.IHIII:LW o1 I, ey =3 E:; Frnlngrgrlg
iC. - . Page 25 0f 32
] I et )00 A
73 1 ¥ | |




8. Which of the following paits is not correctly 118.

matched?

(a) Adam Smith - Wealth of Nations
(b) JM. Keynes - General Theory of Employment,
Interest and Money
() Gunnar Myrdal - Asian Drama
~Ad) Karl Marx - Principles of Political Econ-:rm}' a.nd'
Taxation

119 Which statement/s isfare correct regardmg the ’DGUI{ 19.

‘Mirat-e-Sikandari'?

(1) There is a description of the happiness and
prosperity of the Kingdom of Sultan Mahmud
Begada of Gujarat.

(2) There is a description of pmper arrangm‘aent for
the security of trade routes.

Select the correct answer using the code given below:

Code - 2y .
(a) Only 1 - {b) Ne:ither 1 nur?.
AeFBoth 1 and 2 ~ {d) Only 2

120. Which of the fﬂ]lowmg Manganese pmdu-:.mg areais 120
not located in Karnataka? ;

Preifarfa wiel ¥ W B @1 wireT Wl GHTerT e

14

(@) TsH R — der &t Teed

(b) ST, IR — SRE SN AT T,

EpsasRuct

(c) =i e — UREE g

(d) et wmad — fiiRues eifw diferfedd SR
. g e

PRl TR @ dad f BE /9

Ty T B /8

(1]mﬁw$ﬁﬁ?ww?ﬁm"ﬁ

g W 9
z}mmWﬁwaﬂﬁﬁﬁmﬁfﬂ
T B | -

-ﬁaﬁqm@ﬁmmﬁwmm

!_ "
o e : ;
(@) #aer 1 _ (b) =T &7 LT &1 2
(e 1aR2E= - . (d) Paw 2 '

- A B S Saed S weied §

fReyer =Y 27 .

(a) Bellary . (b) Chikmagalur (@) dwmrr ,{b}ﬁ'ﬂ‘m@' '
(c) Shimoga ~  AdySrikakulam (c) femm - Ad) Sherem
- 121, Which of the following counh;.r.r’mun‘me& is not part - 121 F=ferfe % W FR-w /9 ET?T g 'FH‘?JI'EFITE El
- of the Arabian Peninsula?’ :

1.Oman  2.Irag  3.Kuwsit 4. Syria

Select the correct answer from the code gwen below:
Code -

44} 2 and 4 both (b) 2 and 3 bul:h

_doronly4 (el B,
122, J¥hich one of the following Payloads was used in 122

Chandrayaan-3 Mission to determine the elemental
composition (Mg, Al, 8i, K, Ca, Ti, Fe) of lLI.nar soil
and rocks around the lunar landing site?

- A {b) LRA

(c) APXS ' (d) None of the above

123. Match List-I with List—II and choose the correct 123
answer using the code given below:

List-1 List-1TI
(Banks) (Year of
' ; Foundation)
A. Allahabad Bank—\ - 1.1874

B. Punjab National Bank—7_. 2, 1881

C. Awadh Commercial Banl 3. 1865
9\ " D.The Alliance Bank of Shimla 4, 1894
/-"‘

Code -

_es(a) A-l,B2,C3,D-4 ,QL;]TMB-% €2, D-1
¢} A-2,B-1,C-3, D4 A-4,B-3,C2,D-D
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R 78 & /&7

O LIME 2w @i 4 R

ﬁﬁqwmﬁ%ﬂﬁwwmaﬂm
Rk

(@) 23R 43 - . (b) 23k 33
(c) =aet 4 o () Sy

-W—Sﬁ#&mﬁﬁﬁfﬁ%mw%m—#ﬁqﬁ

@Gﬁ?aﬁﬁ?ﬁﬂ%ﬂiﬁwm{g,ﬂlﬁl{

Ca, Ti, Fe) 1 SITq &% & ﬁﬁ!ﬁ
§ = Rrq ﬁ%ﬁﬁm

WART T
(a) ILSA (b) LRA
{c) APXS (d) S ¥ % g e

AL B R iR
.Wﬁﬁﬁggﬂjﬁﬁq e

E‘TI FHA-IL
| (R )
_gmﬁmﬁm L1874 .
cﬂmﬁmaa‘ea 2,1881
Daﬁa?ﬁﬂmm#q; . 3.1865
ﬁaﬂﬁrwﬁ‘mamﬁﬁmm 4. 1894
E:;AIBZC-SD-:; {h}A3B~4C-2D1
A:Elc:-ssn-; {d)A-4B3C~2D1

T




124, With

tm e T LR

reference to e Mari

¢ Prod
Development Authority (MPEDA) wﬂ?::?l
following statement/s isfare mﬁ'nct?‘
1. MPEDA was established in 1977, =
2. It is headquartered in I{nlkataTu

Select the correct angwer 110 ;
Aanswer u
F b sing the code given

Export
of the

Code - .
(a) Neither 1 nor 2 (b) Onl
y 2
e} Only 1 (d) Both 1 and 2

125. Match List-I with List—I[ and select the cormect
answer from the code given below: '

List-1 List-II
(Schemes) : (Launching Year)
A.P.M. Garib Kalyan Package 1. 2014 ks
© B, Muskan Scheme ' 2. 2020
C. Mission Indradhanush—| - 3. 2018
D. Pradhan Mantri Jan —— 4.2021. .

Arogya Yojana — =
Code -
_4a) A-2,B4,C:1,D3 (b) A-3, B-1, C-4, D-2
{c) A-4,B-3,C-2,D-1 | (d) A-1,B-2, C-3,D-4
126. Given below -are two statements. One is labelled as
Assertion (A) and the other as Reason (R) —
Assertion (A) : Accounting is the language of
"business. ;
Reason (R) : Accounting provides all informatio
: needed by a businessman.

—

Select the correct answer using the code given below-

Code - : ,

{a) Both (A) and (R-} are true but (R) is not the correct

< explanation of (A). :
/{h.LBmh (A) and (R) are true and (R) is thg correct

explanation of (A). - .

{c) (A)is false but (R) is true.

(d) (A) is true but (R) is false.
127. Kidney stones are formed due to -

(a) Deposition of Fat stalization of

- Oxalates
ipitatic eposition of sand
(¢} Precipitationof . (d) Deposition o
Pmtel?ms ' particles

two statements, in which one is

128, Gi e
28. Given below are, and the other as Reason

labelled as Assertion (A)
fs}s;rﬁon (A) The colour of Red Soil is due to the
to a high proportion of it. F't
. re generally poor in nitrogen,
Henon (RY:: Thh:s}' ggmus and humus_~
Select the correct answer using the code given below-

g?d;u-th (A) and (R) are true and (R) is eorrect
explanation of (A)

(b) (A) is false but (R) is ["Ue:
(¢) (A)is true but (R) is false.

wide diffusion of iron rather than °

re true but (R) is not correct

124,

125

wqd) weurs fit e el (MPEDA) @
wad

¥, frefRea Al § W PE—w/W Wl
g/ :

1, MPEDA @7 zeimaer 1972 #. 5% 71|
2. BB qEery Hrewl § B

e oy T g @ Wi vk gAY —
@ - .
(@=art ez (b} Haa 2
(c) a1 (d) 1 @iz 2 <1

1 XEE-IT
' (e &)
A e HeamT el 1.2014
B WA 2. zu:zg
o TR ' 3. 201
D. WeHEl W SR g 4.2021

Tl .
' (a) A-2,B-4,C-1,D-3 * (b) A-3,B-1,C-4,D-2

126.

(c) A4, B-3,C-2,D-1 (d) A-1,B-2,C-3,D4
g 21w Ay Y # | U @ e (A) 3R
G P BN (R) FEN TN E — .

P (A) & dEiE ST W a2

SRV (R) : ST gl R SnaTas  adl
AT WE S E

| %mwgﬁwmﬁwm_ﬁﬁ
Ty —

e~ W\t
(a) (a) 3R ®) @ W € g ®), (A) BT uE

127.

128.

(b) (A) it

RAT 6l & |
(R) gFf Hew & &N (R), (A) @ HEl -

T E -

(¢) (A) erFa & fiig (R) 99 81

(d) (A) \ew & P (R) i d B |

T o v s e o) 27

(2) 7T T AT (b) sifeFeE BT
(6) Wid w1 A (d) W @ FO B wEE

A @ wu Re oM ¥ Rl W we @
aﬁ?ﬁm(maﬁ?.@;@aﬁmm)mmﬁ;
ARHAT (A) = e FE) &1 ¥ W B wem S
@ T SN ATTH TR B T BT
BT &1 t
A Ry e e F W R gy -
HE .

(@) () alR (R) ST w0 § ol (R, (A) B @
T BT ¥ | ; ' ;

(b) (A) areg & (R) =0 & |

(c) {A]W%ﬁﬂﬁ%ﬂ[ﬂ}mﬁl

(d) (A) &R (R) 5T Wy &
AT &l ey &

(d)Aoth (A)and (R) 2
[C-01] el
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129. With reference 1o the first-man made Ruby Laser,
which of the following statement/s is/are correct?
(1) Ruby Laser produced pulses of blue light,’:’(
(2) Ruby Laser produced pulses of red light. «+
Select the correct answer using the code given below:
Code -

(a) Neither 1 nor 2 (bj Both 1 and 2
_de¥ Only 2 (d) Only 1

130. Macch List-I with List-II and select the correct
. answer using the code given below:
List—I List-TI1
(Festival) {State/ Union Tl’:frlt{rr:r']

A. Hornbill Festival™ | 1. Andhra Pradesh

B. Sangai Festival -l.2. Manipur

C. Flamingo Festival 3. Ladakh

D. Hemis Festival . 4. Nagaland -

Code -

(a) A-1,B-3,C4, D2 (b) A-2,B-1,C-3,D+4
_—4€) A4,B-2,C-1,D-3 (d) A-4, B-3,C-1,D-2
131. Which of the following is/are not a capital cxtyfcmes
of any country in Europe? -

1. Riga 2. Rotterdam 3. Zagreb 4. ZLInchL_/
Select ect the correct answer from the the code gnfen below:
Code -

(a) Only 1 [h} 2 and 3

\c)-cnly 4 (d) 2and 4

132. With reference to primitive subsistence agricultural

practices, which of the pair/s' isfare correctly

matched? ] sy |
Agricultural Practices ~ Region

1. Thumming ; South-East Asia

2. Milpa - Mexico

3. Ladang Sn Lanka

Select the correct answer using the code given below:
Code -

_Aa¥1,2and 3 .{b} 1 and 2 only
(¢) Only 2. . (d) Only 1
<Consider the following statements with reference to
‘Operation Ajay’ -

1. External Affairs Minister S, Jaishankar announced
the launch of ‘Operation Ajay’. -
9. It was started to bring back Indians stranded in

wa]‘-hll Jsrael.

Select the correct answer using the code gwcn bﬁi{}w

Code -
oth } and 2

" (c) Neither 1 nor 2

(b) Dnly 2
(d) Only 1

129.

130.

131,

132

(¢) A-4,B-2,C-1,D-3

e e fafia ol o @ gt # FE A W
ﬂﬁﬁm/ﬁaﬁm:ﬂﬂ%x”é‘?

1) ol S 3 Ao T gor @t S R ol

.(2 W&Wﬁmmgﬁrﬁwmml

419 Ry Ty g H A B e W P EE
wHifory

{a) = ot 171 & 2 tbm-laﬁ"reza‘rﬂ“f
(c) ot 2 . (d) w1
-1 w11 gk B @@ A R
HE B WA B FE GIR GET :
—I -1l

(3‘:@} - (e /B T &)
A, B 14 1. & wad
B. €E TH 2. HiomgY
C. YoEd Td 3, wEare
D. effre wd 4, TS
.EIE-—

(h} A-2 B-1,C-3,D-4
(d) A4, B-3,C-1,D-2

(a) A-1,B-3,C-4,D2

ﬁw%ﬁ@aﬁﬁﬁa—m/ﬁu@qzﬁﬁ:ﬁﬁaﬁ
RECIE V44 ;
L& 2.dewd@n  3.unE 4. wgRg

?ﬁﬁﬁqwﬂﬁﬁﬁﬂﬁﬁﬁwaﬁﬁq
'ﬁ_ iy

(@) Fu 1 (b) 2 1% 3

(c) Faer 4 (d) 2 3z 4 -
-anfed Frafes ot 9sf & 9= 4 9 S99
mﬁmﬁﬁhﬁa’ﬂﬁ%‘f%’?

Y wgfer &t

1. g efEo-gd gt

2, frear AT

3. @ R
-%iﬁqw?@i#ﬂﬁ!aﬁﬁrmaﬁﬁw
ﬁ_
‘@ 1,23k 3 (b) Faa 14w 2
- {e) Baw 2 (d) Faa1 1

133.

ST Ty %mﬁﬁqﬁmmm

e affae —

L Ry = ww oeieR aﬁmﬁm q%
T WS 5| .

ZWE—Wwﬁmmﬁa’raﬁm
A & g wRer sy T o :

AR e T w5y g e wE IR gh

ﬂ;a'__
(a) 1 3% 2 5= (b) e 2
(d) Saet 1
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134, Which one of the following pairs (Article - Provision)
is not correctly matched?

_AaiArticle 124 - Supreme Coutt 1o be a Court of
Record

(b) Article 132 - Appellate Jurisdiction of Supreme
Court

(c) Article 143 - Advisory Jurisdiction of Supreme
Court
(d) Article 136 - Special leave to appeal by t!}v:
Supreme Court
135. Pichhwa painting is associated with which deity?
(a) Goddess Kali (b) Lord Shiva
'(LG)-‘Srinath ji/Krishna  (d) None of the above

136. Consider the following statements w1th reference to
'Simon Commission —
1. It made two visits to India.
2. Its second visit was from Qctober 11, 1929 to April
13, 1930,
Select the correct answer usmg the mde given beluw
Code - :
(a) Neither 1 nor 2 (b) Only 1
(¢) Only 2 AdyBoth 1 and 2
@ﬂl& missing number in 3, Sffl‘?-(,ﬁﬁti. 41, 70, .54
(a) 80 (b) 75

(e) 117 - (d) None of the above
138. Which fraction comes next in the sequence?
11 3 -:__,5 o7
2 : & " ‘8 ered lﬁ‘ ..... . ‘
_iar2 (612
3z . 35
(c) 1L @ :
34 ' A7

139. Which one of the following pairs (Institute - Placa} is-

not correctly matched?
(8) Indian Grassland and Fodder Rescurch Institute -

Jhansi +
(b) Indian Institute of Farming System Reseamh =

A Varanasi
7 (c) National Bureau of Agriculturally Impurtant

Micro organisms - Mau
J[d-€%ntral Institute for Research on Goats -
: Makhdum . o
140. Which statement/s is/are  true regarding Lord
 Curzon?

1. Establishing the English Empire on granite rock_—~ .

2. Announcement of Calculia Corpurmrun Acty

Select the correct answer using the code given below;

134, oy e} 3 < B 61 g (rgeS — W) el
yfer =l 82
(a) areaE 124 - e TR @ AferE
=raterd BT
(b) argeeg 132 - ekt =TGN
DRG]

{ciaifv@'crm-aﬁﬁw:amma?rmmﬂﬂﬁrﬁ
(d) argedbe 136 - weawH ey B G I B
forg fady gwme

_ﬂﬁﬂ‘aﬂﬁiﬁawﬁméﬂmﬁmﬁmﬁ

(a) =4t w1elT (b} i e

(€) =fmer <ft /ooy (d) S & & w18 T80
136. mmmmﬁﬁﬁwﬁaﬁaﬁw%ﬂﬁﬁﬂ

BTy —

1. 399 1 9R 9 B SR |

2, ST qRRT ST 11 JFeEa, 1929°¥ 13 7iil, 1930

T 1 AT

e fog Ty e B FET HY WE S G-

A S X

(@ ar19m &2 (b) Fae 1 ;

(c) weer 2 (d) 18f 2 M
137.3,8,13,24,41,70, ........ L o e §1

(a) 80 b)75 ,

(18 4 S (d) SRET § W Big T8
138, argepe % arTert i BT A %? s

.3 5 7 ’

E: ;n E; E, ...... .

(a) 2 (b) 12

32 £ 35

(e) 2 gy 2

17 '_
139, Frferfa gl (FRa — W) § 9 S U

el ghfer &l 87

(o) T T e A g e — i)
() st T ol e R — ARl
(c) W B SrarRl eely =R — 79

(@) i wd SrgeiT ST — g

_14ﬂaﬁaﬁfﬁiﬁ'wﬁﬂﬂﬂwzﬁmﬁm%/§?

lmmﬂmﬁwmw&a
BT

2. Were e st #7 ggor

%quewmmwwgﬁq

EE._

(a) 1% 2 2

(c) et 2

)T ar 1AT 8 2
Ad) Hae 1

Code -
—{a¥Both 1 and g (b) Neither 1 nor 2
(c) Only 2 (d) Only 1
[C-01]
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